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The following table shows the total number of beds in each hospital in bracket and the
number of patient admitted at different hospitals for a disease on a particular day. Based on
the data in the table, answer the questions 1-5 :

i Hospital Hospital | Hospital | Hospital | Hospital
A B C D
Diseaseax {100y (50) (100) 18]
Viral disease 30 15 30 10
Heart disease 35 10 30 10
Kidnev disease 15 5 15 5
Liver disease 10 o b 15

Sub questions

Question Number : 1 Question Id : 5362283005 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which disease occuples highest number of beds in all the hospitals?

(1) Heart Disease (2) WViral Disease
(3) Kidney Dizease (4) Liver Disease
Options :

53622811701. 1
53622811702. 2
53622811703. 3
53622811704. 4

Question Number : 2 Question Id : 5362283006 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What is the total percentage of unutilized beds?

(1) 19.44% (2) 17.66%
(3) 16.66% (4) 15.44%
Options :

53622811705. 1
53622811706. 2
53622811707.3
53622811708. 4

Question Number : 3 Question Id : 5362283007 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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What 1s the percentage of Liver disease patient admitted in all the hospitals from the total
patients admitted?

(1) 15% (2) 16%
(3) 13% (4) 14%
Options :

53622811709. 1
53622811710. 2
53622811711.3
53622811712. 4

Question Number : 4 Question Id : 5362283008 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What is the ratio of patient admitted for viral disease to kidney disease?

(1) 9:4 2y T:4
(3) 8:3 (4) 10:4
Options :

53622811713. 1
53622811714. 2
53622811715. 3
53622811716. 4

Question Number : 5 Question Id : 5362283009 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
What 1s the ratio of total patients admitted to Hospital A to Hospital B?

(1) 19:7 2) 1¥:7
(3) 18:7 (4) 7T:17
Options :

53622811717. 1
53622811718. 2
53622811719. 3
53622811720. 4

Question Id : 5362283004 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No

Question Numbers : (1 to 5)
Question Label : Comprehension
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HTATA HAMA | HEAT | AT | HJAAT
A B C D
— (100) | (50) | (100) | (50)
fEeEEa | 30 15 35 10
w24 I 35 10 30 10
T T 15 5 15 5
REG R 10 5 5 15

Sub questions

Question Number : 1 Question Id : 5362283005 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

¥t s | g T o difsa Wl Ty S deE SaieE 7 e

(1) F=EW (2) faamrsFE
(3 T (4) =THT T

Options :

53622811701. 1
53622811702. 2
53622811703. 3
53622811704. 4

Question Number : 2 Question Id : 5362283006 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
T STl § FeA A Wiaur T mel B ¢

(1)  19.44% (2) 17.66%
(3)  16.66% (4) 15.44%

Options :

53622811705. 1
53622811706. 2
53622811707. 3
53622811708. 4
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(1) 15% (2) 16%
(3) 13% (4) 14%
Options :

53622811709. 1
53622811710. 2
53622811711. 3
53622811712. 4

Question Number : 4 Question Id : 5362283008 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

feramorsrie T & ditga el i S et T H Uit el aEE o S R Y

(1) 9:4 2y T:4
(3) 83 (4y 10:4
Options :

53622811713. 1
53622811714. 2
53622811715. 3
53622811716. 4

Question Number : 5 Question Id : 5362283009 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
T A F A BH WAl Bl AT S = R

(1) 19:7 &Yy Lixd
(3) 18:7 @ 7:17
Options :

53622811717. 1
53622811718. 2
53622811719. 3
53622811720. 4

Sub-Section Number : 2
Sub-Section Id : 536228120
Question Shuffling Allowed : Yes

O nectinn Ninmher * 6§ Onecction Id « KLEIIRINTONO Onectinn Tyvne *» MMOO Ontion Shnnfflinog * No Te Onectinn
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What 1s the focus of concern in understanding level teaching?

(1) Promotion of scope for seeking of relationship among facts and ideas.
(2) Encouraging recall and recognition of facts and information.
(3) Raising of problems and seeing solutions to problems so presented.
(4) Developing a sense of happiness and ownership in learning.

Options :

53622811721. 1
53622811722.2
53622811723. 3
53622811724. 4

Question Number : 6 Question Id : 5362283010 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
ATy T e J AEeAl o R 7

(1) =0 6 = =+ o9 999 = 3@ F 2 # qaE
(2) ATl ST AT % O SN AT S deETEg e
(3)  FEENA F UAT T AN TH TR WS ST F AT =6 =
(4)  HAfoT™ 8 WEE W0 I HE T WIS e
Options :
53622811721. 1
536228117222

53622811723. 3
53622811724. 4

Question Number : 7 Question Id : 5362283011 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following emotional characteristics are of crucial significance 1n adolescent
learming?
(1) Feeling of group belongingnes
(2) Hero-worship and sentiments
(3) Expanding emotional ties with those in the neighbourhood
(4) Dependence processes and making friends
Options :
53622811725. 1
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Question Number : 7 Question Id : 5362283011 Question Type : MCQ Option Shuffling : No Is Quéstiof "
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

-

fFeTe =fer ° HofefiEs § 9 FH-F1 @ 9EarsE e faoias g 1 2 v

(1)  @H9¢ © d5raca 1 qE
(2)  TEF-IA AT a9
(3)  USIEE % WY qEAeE HEE
(4) T Ty 3
Options :
53622811725. 1
53622811726. 2

53622811727. 3
53622811728. 4

Question Number : 8 Question Id : 5362283012 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

During teaching when a teacher uses process questions which of the following types will
have dominance?

(A) Direct questions

(B) Higher order questions
(C) Convergent questions
(D) Indirect questions

(E) Concept based questions

Choose the correct answer from the options given below :

(1 (A). (B) and (C) only (2) (B). (C) and (D) only
(3) (C). (D) and (E) only (4) (B). (D) and (E) only
Options :

53622811729. 1
53622811730. 2
53622811731.3
53622811732. 4

Question Number : 8 Question Id : 5362283012 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No
Covvoct Marvke * 2 Wraoano Marke ¢« )
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19 % WA 9 FT ASATF WA U9H w9 YAF Al & A [Aeieingd 8§ " -4 9 6 U #6
(A)  TEE T

(B) F=ad ®H F U

(C)  =aEr] o9

(D)  #weaE uv

(E)  TFcuAT ATdTig o9

Fr= o = fomem 4 W wE S e

()  F= (A). (B) #7 (C) (2) A (B). (C) =i (D)
(3)  F== (C). (D) ¥ (E) (4) === (B). (D) =1 (E)
Options :

53622811729. 1
53622811730. 2
53622811731. 3
53622811732. 4

Question Number : 9 Question Id : 5362283013 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I: Tutormals. group discussions and guestion-answer sessions are dialogic and

are part of direct teaching methods.

Statement IT : Project work, Laboratory work, simulation and role playing are action based

and are part of indirect teaching methods.

In the light of the above statements. choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement IT are correct

(2) Both Statement I and Statement II are incorrect
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53622811734. 2
53622811735. 3
53622811736. 4

Question Number : 9 Question Id : 5362283013 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Fr=r 21 o fam o #

weA (1) : e, w9 giEe] 317 9va-39 9 Hanens B S T e fafa s am #

Fo (ID) : AT+, TEFEe S, S @R giw HEes G st £ i sweme faeam

fata = =31 2 |

IEF FYA F A G FEiwd e § 9 waEitaE s9e 39 99

(1)  FuE I3R I =3 7 |
(2)  wyA IR 2 9251 942 7 |
(3)  wuA 1T 2, T v IO 49 7 |

(49 W 1T7 AE 7 R Fe w7

Options :

53622811733. 1
53622811734. 2
53622811735. 3
53622811736. 4

Question Number : 10 Question Id : 5362283014 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



www.prepp.in

Prepp

ersonal Exams Guide

(iven below are two statements :

Statement I : Maximum performance tests are designed to assess the upper limits of the
examinee's knowledge and abilities.

Statement IT: Typical response tests are designed to measure the behaviour and
characteristics of examinees.

In the light of the above statements. choose the most appropriate answer from the options
given below :

(1) Both Statement I and Statement IT are correct

(2) Both Statement I and Statement I are incorrect

(3) Statement I 1s correct but Statement II 1s incorrect
(4) Statement I 1s incorrect but Statement IT 1s correct
Options :

53622811737. 1
53622811738.2
53622811739.3
53622811740. 4

Question Number : 10 Question Id : 5362283014 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

= = w9 = E

FoF () :  oAfawan FomeT 0w Wi & 59 7 IrEarel $1 I=a09 ] w5 A 9 6

Fum (1) :  Tafee so wdiae gl & s9asr A fEeaast & qe = o Ao =m 6 |

T FEA T AT ° IR Eea § @ =i 20ed I G

(1) FE IHF A =8 7 |
(2) o 1 #AR =M &4 T4 7 |
(3)  ww I=A 7, fhg o L5 47 2|

(49 7w 157 79 & g wo a7 |
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Question Number : 11 Question Id : 5362283015 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following methods 1s used in empirical researches?

(1) Inductive method (2) Deductive method
(3) Initiative method (4) Scientific method
Options :

53622811741. 1
53622811742. 2
53622811743.3
53622811744. 4

Question Number : 11 Question Id : 5362283015 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
stezamgya g 4 faefafega 4 9 $9-d faf =0 wme a2m 27

(1)  wwEETEs (2) T g
(3)  =A: =R Ay (4) == T
Options :

53622811741. 1
53622811742.2
53622811743. 3
53622811744. 4

Question Number : 12 Question Id : 5362283016 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

When the independent variable 1s explored rather than mampulated. to observe the effect on
dependent variable. the method of research is called,

(1) Ex-post facto method (2) Experimental method
(3) Casze study method (4) Descriptive survey method
Options :

53622811745. 1
53622811746. 2
53622811747. 3
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Fe HAMHE = 9 T Ui 0 7 i = 8 S 97 6 6 w9 39 A Wil 7 T-lT‘"]TEI'Fr"IIH“H
= T TR

(1)  FEF & (2) T fata
(3) =3 weAEd &g (4) Taavomess waa far
Options :

53622811745. 1
53622811746. 2
53622811747. 3
53622811748. 4

Question Number : 13 Question Id : 5362283017 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Identify the qualitative research characteristics from the following :
(A) Exploring a problem and developing a detalled understanding of a central
phenomenon.
(B) Having the literature review play a minor role but justifving the problem.
(C) Describing a research problem through a description of trends.

(D)  Collecting numeric data from a large number of people using Instruments with
present questions.

(E) Collecting data based on words from a small number of individuals.

Choose the correct answer from the options given below :

(1) (A). (B) and (C) only (2) (A, (B) and (E) only
(3) (B). (C) and (D) only (4) (C). (D) and (E) only
Options :

53622811749. 1
53622811750. 2
53622811751. 3
53622811752. 4

Question Number : 13 Question Id : 5362283017 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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fa=tferia 9 @ Toner oy favmae i vE=EE i

(A)  THET TEE TG AT F A UEE e s e e

(B) =g WEIET T UF FEN Y FEE1 W TR A 5 aaE

(C) v F = % ooy 7 Rt oma J9e 1 a0 |

(D)  E-TFEE TTAT AT =@ WA g5 T 3 A 8 GEAeAT A T T |

(E) =0 O7=T 0 =Fa ¥ I T SITaia e UHEE FT |

i fiit 3 e A @ A T

(1) 3= (A), (B) ¥ (C) (2) Fa= (A), (B) 7 (E)
(3) A= (B), (C) #F (D) (4) ==« (C). (D) 3 (E)
Options :

53622811749. 1
53622811750. 2
53622811751.3
53622811752. 4

Question Number : 14 Question Id : 5362283018 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Identify the probability sampling procedures from the following :
(A) Quota sampling

(B) Stratified sampling

(C) Dimensional sampling

(D) Cluster sampling

(E) Systematic sampling

Choose the correct answer from the options given below :

(1) (A}, (B) and (C) only (2) (B).(C)and (D) only
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53622811754. 2
53622811755. 3
53622811756. 4

Question Number : 14 Question Id : 5362283018 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Feferfag 8 o oA giaea TEEaeT i 95aE i
(A)  AEEE T
{B} W’\ '._' q‘ﬁj’-q:{r =

(C) AT Tia=ad

(D) =9z uig=ad

(E)  =gai=4q gfq=a4

i 27 ™ fawen 8 15w T g

(1) e (A). (B) wn (C) (2) Faa (B). (C) Wi (D)

(3  Fa= (B). (D) # (B) @) e (C). D) 3 (E)
Options :

53622811753. 1
53622811754. 2
53622811755. 3
53622811756. 4

Question Number : 15 Question Id : 5362283019 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(iven below are two statements :

Statement I : In research. ‘Null hypothesis’ when rejected. offers the scope for accepting

the alternative or substantive research hypothesis.

Statement IT: When the Null hypothesis 1s rejected. there will be chances for committing
‘Beta’ rather than ‘Alpha’ error.

In the light of the above statements. choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement 11 are correct

(2) Both Statement I and Statement II are incorrect

(3) Statement I is correct but Statement II 1s incorrect
(4) Statement I 1s incorrect but Statement II 1s correct
Options :

53622811757. 1
53622811758. 2
53622811759. 3
53622811760. 4

Question Number : 15 Question Id : 5362283019 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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9 = w9 fTo U

FE () : 9 H 78 7 TREeTT SAEEd w6l 7, 1 SHeqS T Hifes Ie TR T

FoE (1) : =9 g3 uiepear e Al B, 91 ‘IewT qR =E g9 wie g B s wumEE
Bl

- = S R . e [ 21
I FIAT F ATEF 0 HEATHA [FHed 9 9 Tangs 3999 I 91 ¢

(1) Fod I o I =M 721 7 |
(2) w1 3R 2 98 981 7 |
(3)  wwa I@A 7, g Fem I w3 9 2|

(4) F9 157 T2 7 g F9F [ HA 2 |

Options :

53622811757. 1
53622811758.2
53622811759. 3
53622811760. 4

Question Number : 16 Question Id : 5362283020 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The entry of new media has made online learning :

(1) Secondary source based (2) Dependent on personal sources

(3) Institution-centric (4) Independent

Options :

53622811761. 1
53622811762. 2
53622811763. 3
53622811764. 4
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(1) Tz g s (2) T |l W AT
(3) per=di —#f'_'??' (4) =3
Options :

53622811761. 1
53622811762. 2
53622811763. 3
53622811764. 4

Question Number : 17 Question Id : 5362283021 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Removal of communication barriers in a classroom will result in
(A) Clear enunciation of specific instructional behaviours

(B) A climate of purposeful student interaction.

(C) Promotion of personality cult.

(D) The irrelevance of 1llustrative examples.

Choose the correct answer from the options given below :

(1) (A) and (B) only () (B) and (C) only
(3) (C) and (D) only (4) (A)and (D) only
Options :

53622811765. 1
53622811766. 2
53622811767. 3
53622811768. 4

Question Number : 17 Question Id : 5362283021 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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FT § HUTT SETHT 1w 1 GO B

(A) Al sEeTerE SEER F T e

(B) To=nien = &= Heeyd o A 1 amE |
(C)  =afhea 741 ATF 1 TEH |

D) T seEon fi smEiE |

(1) == (A) 91 (B) (2) === (B) #Fh (C)
(3)  Fa= (C) 3T (D) (4) Faa (A) 377 (D)
Options :

53622811765. 1
53622811766. 2
53622811767. 3
53622811768. 4

Question Number : 18 Question Id : 5362283022 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as

Reason (R) :
Assertion (A):  Repeating more and more the same message will make 1t 1important.
Reasons (R) : ‘Don’t use two words when one will do’ 1s the guiding principle that works.

In the light of the above statements. choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)

iy Peath AV armd MPY ara norpant i B 32 NOYT +ha corract cvnlanaticm af A
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Options :

53622811769. 1
53622811770. 2
53622811771. 3
53622811772. 4

Question Number : 18 Question Id : 5362283022 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Fr =1 A fow e T O v o s (A) 3 3E T (R) e R

ATTFE (A) : U F W9 H GH-AT FEAT FH Aeeagel S |

7% (R) : ‘59 UF veE § F FH 9 90 91 21 9eS1 6 990 9 #0098 OF qrieel ma 2, A
Wl Bl

ST HUAT o AT A Feed el § ¥ Haigs s9geE 3 9

() (&) R) 3 = 7 AT R). () F 7 ==
@ (A) ¥ ®) 3w E v (R). (A) T
(3 (&) 2 T (R) T T R

(4) (A TE FE 2 7 (R) T E

Options :

53622811769. 1
53622811770. 2
53622811771. 3
53622811772. 4

Question Number : 19 Question Id : 5362283023 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Identify the correct sequence of phases 1n communication development :

(A) Acta Diurna

(B) Cave palntings

(C) Wooden blocks for printing
(D) Development of languages

(E) Metal printing

Choose the correct answer from the options given below :

(L) (&) B). D), (O). (E) (2)  (B). (D), (C). (A). (E)
(3) (C). (D). (E), (A). (B) 4y (D). (E). (A). (B). (C)
Options :

53622811773. 1
53622811774. 2
53622811775. 3
53622811776. 4

Question Number : 19 Question Id : 5362283023 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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FETIO T W = H o TR FE TR
(A)  =mE T

®) T =

(C)  HZw % v g scAiam

(D) |l =

(E)  drd 3gm

Fr= fou T el 4 @ wE T g

(1) (A (B). (D). (C). (E) (2)  (B). (D). (C). (A). (E)

(3) (C). (D). (E). (A). (B) (4) (D). (E). (4). (B). (C)

Options :

53622811773. 1
53622811774.2
53622811775. 3
53622811776. 4

Question Number : 20 Question Id : 5362283024 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Match List I wath List IT

List I List IT
(Mode of Communication) (Type of communication)
(A) One—to—one (I) Network (transactional)
(B) One-—to— many (IT) Intra-personal
(C) Many— to— many (II1) Inter-personal
(D) One — to—none (IV) Mass Communication especially print

Choose the correct answer from the options given below :

(1) (A)-(I). (B)-(II), (C)-(III), (D)-(IV)
(2) (A)-(ID). (B)-(III). (C)-IV), (D)-(D
(3) (A)-(IID), (B)-(IV). (C)-(D). (D)-(II)
(4) (A)-(IV). (B)-(D. (C)-(I). (D)-(I1I)

Options :

53622811777. 1

53622811778. 2

53622811779. 3
53622811780. 4

Question Number : 20 Question Id : 5362283024 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

o1 =1 gei-11 & gt i
1T T
(wesmr Tt (FFETToT 7 T )
(A) TF AT TH F =" (D 2a%® (TTa=ieTF)
(B) TF AT FE F A= D) = - FafFF
(C) =% #N F2 F o= (D) #Ha -t
(D) vF #An {FE F T T IV) = F9R, e ggm

Fr= fo w0 Tomedl B @ wE I g

(1) (A)-@). B)-(II), (C)-(IID). (D)-(IV)
(2) (A)-(IT). (B)-(I1I), (C)-(IV). (D)-(I)
(3) (A)-(I1I), (B)-(IV), (C)-@). (D)-(IL)
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53622811779. 3
53622811780. 4

Question Number : 21 Question Id : 5362283025 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What 1s the actual profit when the profit on selling price is 25%?

(1) 33.33% (2) 30.33%
(3) 25% (4) 20%
Options :

53622811781. 1
53622811782. 2
53622811783. 3
53622811784. 4

Question Number : 21 Question Id : 5362283025 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Ifz fosha gog W 19 25% 7 A1 AAtae A #4776 Y

(1) 33.33% (2) 30.33%

(3) 25% (4) 20%
Options :

53622811781. 1
53622811782.2
53622811783. 3
53622811784. 4

Question Number : 22 Question Id : 5362283026 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What 1s the remainder when 45 1s divided by 157

(4 (2) 5
(3} 8 4y 11
Options :

53622811785. 1
53622811786. 2

ENL£DN70117Q77 1
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Correct Marks : 2 Wrong Marks : 0
4571 15 ¥ Taa1iaa 14 0 IIES F=4 A7

(1) 4 (2) 5
(3 8 (4) 11
Options :

53622811785. 1
53622811786. 2
53622811787. 3
53622811788. 4

Question Number : 23 Question Id : 5362283027 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What 1s the missing number?

4,8, 16, (7), 64, —128

(1) —24 2y 32
(3) 24 (4 30
Options :

53622811789. 1
53622811790. 2
53622811791. 3
53622811792. 4

Question Number : 23 Question Id : 5362283027 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
TeTitRa 9 ve == s (7) =6 T9H W FA H EeE e ¢

4, —8. 16, (7). 64, -128

(1) 24 (2) -32
(3) 24 (4y 30
Options :

53622811789. 1
53622811790. 2
53622811791. 3
53622811792. 4

M3 nctinse N axzsrrdhhinee ¢ Y4 D23t i TA ¢« 22429702070 Nyrsxnctd i Threvn o MO Ny erd 22 COLlava ff1%3vcr ¢« N a T Ny ncdine
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Given below are two statements :

Statement I : Sometimes. Ratio has units.
Statement I : When two ratios are equal, a proportion 1s formed.

In the light of the above statements. choose the correct answer from the options given below :

(1) Both Statement I and Statement IT are true
(2) Both Statement I and Statement I are false

(3) Statement I 1s correct but Statement II is false
(4) Statement I 1s incorrect but Statement IT 1s true
Options :

53622811793. 1
53622811794. 2
53622811795. 3
53622811796. 4

Question Number : 24 Question Id : 5362283028 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

= 7 FA RE R

Fo () :  Fedi-wfi w3 1 A =i 7 |

o (I) : =7 31 W9 0 B 2, A1 U SEETE A 26 E |
ST FGA % AT § R el d H WA 3
(1)  F [3R ILaA =8 7 |

(2) wwE I3R =4 7= d 2 |

(8) v 15 & Tohg o IL7e0a 7 |

(4)  wu I HE 2 g 5 &8 2

Options :

53622811793. 1

53622811794. 2

53622811795. 3
53622811796. 4

Question Number : 25 Question Id : 5362283029 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Given below are two statements :

Statement I : Co-primes are the numbers which have only 1 as their common factor.

Statement II : Factorisation 1s the decomposition of a number into the other numbers which
when added together will give the original number.

In the light of the above statements. choose the correct answer from the options given below :

(1) Both Statement I and Statement IT are true
(2) Both Statement I and Statement IT are false

(3) Statement I 1s correct but Statement IT 1s false
(4) Statement I is incorrect but Statement IT 1s true
Options :

53622811797. 1
53622811798. 2
53622811799. 3
53622811800. 4

Question Number : 25 Question Id : 5362283029 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Fo (I):  TE-A9TT WA A 3 {5 39 veEs 5 1 EE E

Fo (II) : oS - 1 O ° TR e w9 et § fanfaa e 5 2 R o oy
IS T H HEE A FAl F

ST FUAT F ATE ° e e 1§ wE I T
(1)  FoF I37 =M T4 7 |

(2  w IR [2E T4 2 |

(3) w19 2 g F9A [T 7 |

(4) w150 7 Thg w9 [ 2|

Options :
53622811797. 1

S~~~ AN 1YONO A
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Mandatory : No
Correct Marks : 2 Wrong Marks : 0

In terms of the relationship indicated below. which word will correctly pair to replace the
questions mark?

Worse : Bad :: Doting :

(1) Reverence (2) Fond
(3) Hate (4) Dislike
Options :

53622811801. 1
53622811802. 2
53622811803. 3
53622811804. 4

Question Number : 26 Question Id : 5362283030 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
i fam 0 mEy fi 2 9 av A g # T W R w0 s TE H A P Y

S L= B CUBRRC U IR l‘IH’:."E

O 7@ (2) =i
(3) il (4) M
Options :

53622811801. 1
53622811802. 2
53622811803. 3
53622811804. 4

Question Number : 27 Question Id : 5362283031 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Given below 1s a proposition :

‘The weather 1s very cold today’.

Which one of the following. according to Nyava., 1s the correct option?
(A) Samanya lakshana

(B) Yogaja

({C) Jnanalakshana

(D) Sannikarsha
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53622811806. 2
53622811807. 3
53622811808. 4

Question Number : 27 Question Id : 5362283031 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

‘T Hieg wgd g 2
T FIEN THE [ 2 v Fefehad 8 8w m wg e 2 7

(A) TE A4

(B) RIHE

(C) 7 =&

(D) = ==Y

Hi= foa ™ oo o WA 3 g

(1) = (A) (2) === (B)
(3 Fad (0) (4) a7 (D)
Options :

53622811805. 1
53622811806. 2
53622811807. 3
53622811808. 4

Question Number : 28 Question Id : 5362283032 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Arrange 1n sequence the following theory of causality in Aristotle’s philosophy :

{A) Material cause
(B) Efficient cause
(C) Formal cause

(D) Final cause

Choose the correct answer from the options given below :

(1) (A). (C). (B). (D) (2) (A). (D). (B). (C)
(3) (C). (B). (A). (D) (4) (A (B). (C). (D)
Options :

53622811809. 1
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Question Number : 28 Question Id : 5362283032 Question Type : MCQ Option Shuffling : No Is"Queéstion
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

(A)  difas =
(B) T T
(C) AT FHOT

(D)  #Af9" =+

Fr= T ™ fawew 3 wE T 9

(1) (A (C). (B). (D) (2) (A). D). B). (C)
(3) (C). (B), (A). (D) 4 (A (B). (C). (D)
Options :

53622811809. 1
53622811810. 2
53622811811. 3
53622811812. 4

Question Number : 29 Question Id : 5362283033 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I : Some examinations are too long.
Some examinations are too difficult.

Therefore, some examinations are too long and too difficult.

Statement I : Some dogs chase cats.
All dogs have fleas.

Therefore. some cat-chasing dogs have fleas.

In the light of the above statements, choose the correct answer from the options given below:
(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false

(3) Statement I is correct but Statement IT is false

L T - N e " P LA T L i
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53622811815. 3
53622811816. 4

Question Number : 29 Question Id : 5362283033 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FoE (I):  FF T g w7l A |

a:, F3 T a5 o] 37 5gd Fia7 7l 7 |
FoA (I : TS Fed Tatea=i #1931 #d = |

Tl e 7 T 7 R

o, Tafeoar =1 9@ == 9 $9 Foat § (g 7 A |
IIFA FYAT F A J R e § 8 ' I

(1) =\ IAT I E7 |
(2) w1 HR I 2E Ted 7 |
(8) WU I 2 fohg 9 I 2|

(4) w9 1 37577 2 frg =99 [ o7 2|

Options :

53622811813. 1
53622811814.2
53622811815.3
53622811816. 4

Question Number : 30 Question Id : 5362283034 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(Given below are two statements :

Statement I : Human reason has this peculiar fate that it reaches at a stage when 1t can
neither answer certain gquestions nor can it ignore such questions.

Statement I : Human reason, by its own nature. 1s not competent to resolve certain
guestions concerning the ultimate reality.

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both Statement I and Statement I are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement IT 1s incorrect
(4) Statement I 1s incorrect but Statement IT 1s correct
Options :

53622811817. 1
53622811818. 2
53622811819. 3
53622811820. 4

Question Number : 30 Question Id : 5362283034 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Sl i R G

#u ([): HHa 7% =1 98 g9 7 & 9% UHl fEufd 8 v5" A 7 99 98 Haed 9 6 T q Seat 3
TFAT 2 3 T I A T R |

Fo (I[) : HHa 9% 294 S=UE ° =09 3979 T Faigd Hia9d 91 F w6 e 0 5EH 6 7 |
39T FIAT F HATETE ° IR e 3 O maiae 39Ed 39 T

(1) #9717 I 541 7 |

(2 A 1L =M1 w81 77 7 |

(3) =7, g oA LT 77 7 |
(4) TAl Al Thd FoE [ &R 7 |

Options :

53622811817. 1
53622811818.2
S367272R11R10
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Correct Marks : 2 Wrong Marks : 0
MOODLE 1s abbreviation of

(1) Modular Object-Oriented Distance Learning Environment
(2) Modular Object-Oriented Dynamic Learning Environment
(3) Modular Object-Oriented Distance Legislative Environment
(4) Modular Object-Oriented Distance Legal Environment

Options :

53622811821. 1

53622811822.2

53622811823. 3
53622811824. 4

Question Number : 31 Question Id : 5362283035 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

MOODLE F=fefad & & fomer gitres am 27

(3) qﬁgﬁt ATeaFe- w073 Te52g wiaieg T=arane
Options :

53622811821. 1

53622811822. 2

53622811823. 3
53622811824. 4

Question Number : 32 Question Id : 5362283036 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Extra browser window of commercials that open automatically on browsing web pages 1=

called

(1) Spam (2) Virus
(3) Phishing (4) Pop-up
Options :

S36772R11R25 1
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Question Number : 32 Question Id : 5362283036 Question Type : MCQ Option Shuffling : No Is"Quéstion
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

(1) g (2) amE
(3)  fwpER (4) TTT-T
Options :

536228118251
53622811826. 2
53622811827.3
53622811828. 4

Question Number : 33 Question Id : 5362283037 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement I : World Wide Web 1= not an example of chient-server technology.

Statement IT: FTP 1= a service avallable on the internet.

In the light of the above statements. choose the correct answer from the options given below:

(1) Both Statement I and Statement IT are true

(2) Both Statement I and Statement II are false

(3) Statement I 1s correct but Statement I 1s false
(4) Statement I 1s incorrect but Statement II 1s true
Options :

53622811829. 1
53622811830. 2
53622811831.3
53622811832. 4

Question Number : 33 Question Id : 5362283037 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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9 31wy Er o E

w9 (I):  Fos 9535 98 FTARI—HAT AT ] 220 954 # |

F9H (II): TF 3 1 32042 T 390754 UF o1 2 |

ITHF FAA AT § G e § ° HE I A
(1) #9172 =9 7 |

(2) #1324 T 7 |

(3)  FYA IT 2 g FuA 117 7 |

4)  FwE IE 7 g F a2

Options :

53622811829. 1
53622811830. 2
53622811831. 3
53622811832. 4

Question Number : 34 Question Id : 5362283038 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following statements 1s/are true?

(A) Fibre optic cables are wooden fibres to provide high guality transmission.

(B) Wireless communication provides anyvtime. anyvwhere connection to both computers
and telephones.

(C) Mobile phones are capable of providing volce communication and also digital
messaging service.

Choose the correct answer from the options given below :

(1) {A)and (C) only (2) (B) and (C) only
(3) (A} and (B) only (4) (C)only
Options :

53622811833. 1
53622811834. 2
53622811835.3
53622811836. 4



www.prepp.in

Prepp

ersonal Exams Guide

(A) I ATeE FAed To9 ToEA H T I FH F A0 E =
B) T TR e i S A e w s e o T T e
Al 7 |

(C)  =EwEH BiA 9 FegETE 3R fsfaes dute afag 391 i giaw 12 e 5 w958 2

= 7 ™ fTFew 3 58 5 =96

(1) == (A) #1 (C) (2) 4= (B) #K (C)
(3) == (A) 3 (B) (4) == (C)
Options :

53622811833. 1
53622811834.2
53622811835.3
53622811836. 4

Question Number : 35 Question Id : 5362283039 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Consider the following technologies :

(A) Microprocessor

(B) Transistor

(C) Vaccum Tube

(D) Artificial Intelligence

Arrange the above technologies of different computer generations in the order they have
been used. Start from the technology that was used in first generation.

Choose the correct answer from the options given below :

(1) (C). (A), (B), (D) (2) (C), (B). (A). (D)
(3) (B). (C). (A). (D) 4) (C). (B). D). (&)
Options :

53622811837. 1
53622811838. 2
53622811839.3
53622811840. 4

Question Number : 35 Question Id : 5362283039 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Tr=fefas St e w fa=m =

(A)  HEFTMEE

e &

(B) R

(© famzE

D)  FrE ggHE

Tt =eger Hifeat | vam 1 7 9T et Fes w6 Al 9e °§ 0% #d 50 #9 ° W
F= T = fawew = wE v g

(1)  (C).(A). (B, D) (2) (©). (B). A). (D)

(3) (B). (C), (A), (D) @) (C). (B). (D), (&)

Options :

53622811837. 1
53622811838. 2
53622811839. 3
53622811840. 4

Question Number : 36 Question Id : 5362283040 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The only UN treaty related to environmental 1ssues which has been ratified by all 197 UN
member states is

(1) Montreal Protocol (2) Paris Agreement

(3) Kyoto Protocol (4) Basel Convention
Options :
53622811841. 1
53622811842. 2
53622811843.3
53622811844. 4

Question Number : 36 Question Id : 5362283040 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T Hagi § HEtdd UHAT TA9 UF @A F4 @ 7 fEeew gaem 1w F ) 197 mee 1wl g
ATERYA oA TR T

(1) i arzmw= (2) T o

(3) = TS (4) =T T
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53622811844. 4

Question Number : 37 Question Id : 5362283041 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

As of now. which of the following is a leading country in wind energy based electricity

generation?

(1) India (2) China
(3) France (4) Denmark
Options :

53622811845. 1
53622811846. 2
53622811847.3
53622811848. 4

Question Number : 37 Question Id : 5362283041 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
TAAH {9 A SR [T IeEd % et § fefatad § ' w6/ st 9 2 7

=

(1) A (2) ==
(3 ®m (4) =HEE
Options :

53622811845. 1
53622811846. 2
53622811847.3
53622811848. 4

Question Number : 38 Question Id : 5362283042 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

‘Solar Water Still’ 1= a device to

(1) Produce potable water by using solar energy
(2) Pump water by using solar energy
(3) (Generate electricity by using solar energy

(4) Produce heat using solar energy
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53622811852. 4

Question Number : 38 Question Id : 5362283042 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

‘O Tt e v 3w 2, Taoe 3 Aetenga 5§ s e e 2

(2)  HW S % ITE G T i 99 FA F fow |
(3)  HW Fa1 % I g sees e % e

(4)  HR T % 3990 R T 309 F F o |
Options :
53622811849. 1
53622811850. 2
53622811851. 3
53622811852. 4

Question Number : 39 Question Id : 5362283043 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Identify the primary air pollutant among the following :

(1) Ozone (2 Black carbon aerosols
(3) Sulphate aerosols (4) Peroxy Acetyl Nitrate (PAN)
Options :

53622811853. 1
53622811854.2
53622811855.3
53622811856. 4

Question Number : 39 Question Id : 5362283043 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
FfafEd o 3 mUE 9 TgeE i TEEE W o
(1) A=A (2) =i FEA TEEE

(38)  ToHz wEEg (4) R UHeEe AEe (f v )
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856. 4

Number : 40 Question Id : 5362283044 Question Type : MCQ Option Shuffling : No Is Question
ry : No

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I: Long stretches of major rivers of India have very low Biochemical Oxygen

Demand (BOD) values.

Statement IT : In rnvers oxygen 1s added into water by diffusion from air due to its turbulent

In the
given b

(1)
(2)
(3)

(4)
Options :
53622811
53622811
53622811
53622811

Question
Mandato

and rapid flow.

light of the above statements. choose the most appropriate answer from the options
elow :

Both Statement I and Statement 11 are correct
Both Statement I and Statement IT are incorrect
Statement I 1s correct but Statement IT 1s incorrect

Statement I 1s incorrect but Statement IT 1s correct

857. 1
858.2
859.3
860. 4

Number : 40 Question Id : 5362283044 Question Type : MCQ Option Shuffling : No Is Question
ry : No

Correct Marks : 2 Wrong Marks : 0
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fazs TG mE

FeA (1) :  97d 1 7HE AT F 7 W § AGUEE AFE e G (S S e (Hf
HATST)) = B q5T T 7

Fua (D) : 291 F 30 317 79 TAE F T GF F G0 ° 3 T 0 AEE e T 2
ST YA AR § G At d ° Haia 399 39 9 ¢

(1) =99 3R I =A =52 7 |
(2 w13k [ =591 78 7 |
(3) A 157 & Thg %o L5878 2|

(4)  wu [ =7 78 7 g o =8 2|

Options :

53622811857. 1
53622811858. 2
53622811859. 3
53622811860. 4

Question Number : 41 Question Id : 5362283045 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Paravidya. according to the vedic tradition, imphes :

(1) Knowledge based on human experience

(2) Knowledge that transcends human experience
(3) Enowledge acquired from teachers

(4) Knowledge acquired from texts.

Options :

53622811861. 1
53622811862. 2
53622811863. 3
53622811864. 4

Question Number : 41 Question Id : 5362283045 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Y VSN 4+ N Tasedrcc ¢ Waenrnsrer MM asd-c ¢« N
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dfah T AR i w5 oA A

(1) OHa FHYF T AATETE 79
(2)  =FE HAEE H W T
(3)  ToE | AAtHa 5
(4) T H A 7
Options :
53622811861. 1
53622811862. 2

53622811863.3
53622811864. 4

Question Number : 42 Question Id : 5362283046 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
The underlying purpose of environmental education 1s to :

(4)  Adjust to environmental challenges

(B) Help face environmental hazards

(C) Promote individual's critical-thinking about emerging 1ssues

(D) Increase public awareness and knowledge of environmental 1ssues.

(E) Enhance problem-solving and decision-making skills in respect of handling
environmental 1ssues.

Choose the correct answer from the options given below :

(1)  (A). (B). (C) only (2) (B). (C). D) only
(3)  (C). (D). (E) only (4) (D). (E). (A) only
Options :

53622811865. 1
53622811866. 2
53622811867. 3
53622811868. 4

Question Number : 42 Question Id : 5362283046 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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THTER AT 1 AR 3257E E

(A) T gEd g i T w4

(B) T Tl @AT S HEAT FA § HErEal T |

(C) =4 g2 & 91 § =(9d = THAEAES (=ad 1 g2 27 |
(D) = meHi gEET 9N A Skl # S S |

(E) === Fedt gzt & fued & awe-amgm &1 o o7 & S § 9ig w0

(1) a4 (A). (B) 517 (C) (2) A= (B), (C) @7 (D)
(3) = (C). (D) #i (E) (4 =Fad (D). (E) 91 (4)
Options :

53622811865. 1
53622811866. 2
53622811867. 3
53622811868. 4

Question Number : 43 Question Id : 5362283047 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
MHRD. Govt. of India. scheme RUSA’ supports the following components :

(A) Upgrading autonomous colleges to the status of a University
(B) Providing maintenance grants to state Universities

(C) Setting up of new professional colleges 1n un-served and under-served areas of the
country

(D)  Prowiding infrastructure grants to colleges and universities to scale up capacity

(E) More scholarship programmes to supplement the cost of education

Choose the correct answer from the options given below :

(1) (A). (B). (D) and (E) only (2) (A). (B), (C) and (E) only
(3)  (B).(C). (D) and (E) only (4) (A). (C). (D) and (E) only
Options :

53622811869. 1
53622811870. 2
53622811871. 3
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Correct Marks : 2 Wrong Marks : 0
Td TR F OFd BETEA R B A OFE G GefeiEd § 8 A 92w 7 S TEH
FTdl 7 7

(A) =W FiAAl F EvAfEEEE # 29 TeH F o |

(B) T Tavaiaam= =1 A374a7 FHZE T8 i o+ 50

(C) =% = 33°Elad AW FAHEd S50 § 0 ST Fiers i SOET 5 F e |
(E)  foan 1 = =1 o3id 0 F 70 afas seEicd S =99 F 0 |

= 22 ™ T 1 T8 I 9
(1) === (A). (B), (D) =1 (E) @) F (A). B). (C) 5 (B)
(3  Fa= (B). (O). (D) 7 (E) (4) i (A). (C). (D) 3 (E)

Options :

53622811869. 1
53622811870. 2
53622811871. 3
53622811872. 4

Question Number : 44 Question Id : 5362283048 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following ICT initiatives of MHRD deal with E-governance for
institutions/universities?

(1) SAMARTH (2) VIDWAN

(3) IRINS (4) SWAYAM
Options :
53622811873. 1
53622811874.2
53622811875. 3
53622811876. 4

Question Number : 44 Question Id : 5362283048 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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{1} .m?&1 {2} i z 1
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Options :

53622811873. 1
53622811874. 2
53622811875. 3
53622811876. 4

Question Number : 45 Question Id : 5362283049 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A De-novo institution 1s characterized by

(1) ICT enabled pedagogy

(2) focus on teaching and research 1n unique and emerging areas of knowledge
(3) focus on teaching and research on foreign languages and their literature
(4) state of art infrastructure

Options :

53622811877. 1
53622811878.2
53622811879. 3
53622811880. 4

Question Number : 45 Question Id : 5362283049 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
s fe-AmEr wer $ o= a2 0
(1) o1E Y F wEE e
@ 7 e it s a5 fon s o s g
(3)  Ta=el wmaAt T ST mWifeea & T 9 WY WS Fimd e |
(4)  ACTAE gEEE] 2
Options :
53622811877. 1
53622811878. 2

53622811879. 3
53622811880. 4
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Question Id : 5362283050 Question Type : COMPREHENSION Sub Question Shuffling Allowed " Yeé§" ™"
Group Comprehension Questions : No
Question Numbers : (46 to 50)

Question Label : Comprehension

Read the passage and answer questions from 46 to 50.

If so much of present day cultural learning depends on situation and context how do the
resulting assemblages acquire an organised coherence? One way this 1ssue 1s being raized in
recent anthropology 12 through the concern with identity, whether defined as 1dentity of the
person of an ethnic group or of an entire nation. But identities do not swim above 1n the
stream of social life like amoebas In fermenting banana soup. If defimitions of i1dentity
involve a characterisation of attmbutes and a drawing of boundaries around the units so
defined. 1n contrast with other umts. this must have a causal context. Moreover. we know
that the search for identity varies historecally. intensifving or slackening over periods of
time. Thus, a major rise occurred in the demand for identity with the advent of the
nation-state and the collateral development of nationalism. which hoped to create a unified
and 1dentifiable ‘people’. out of diverse populations with distinctive 1dentities of their own.
Recently, the demand for 1dentities has risen once again, precisely at a time when cultural
repertolres are becoming agaln more heterogeneous, as people have responded to changes 1n
the social division of labour, in their relation to governments. in reaction to new modes of
communication. These repertoires of cultural understandings and practices do not easily fit
any traditional notion of culture as an integral and integrated set of forms and meanings.

Sub questions

Question Number : 46 Question Id : 5362283051 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What 1s the focal issue 1n the present day cultural learning?

(1) Unending discussions on 1t (2) Contextual clarity
(3) Anthropological concern (4) The need to organise the 1ssue properly
Options :

53622811881. 1
53622811882.2
53622811883.3
53622811884. 4

Question Number : 47 Question Id : 5362283052 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The 1dentity has a tendency to have

(1) Different attributes from others
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Options :

53622811885. 1
53622811886. 2
53622811887. 3
53622811888. 4

Question Number : 48 Question Id : 5362283053 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Historically the search for identity has been of

(1) Uniform continuity (2) Slackening of culture
(3) Intermittent intensity (4) Illogical motives
Options :

53622811889. 1
53622811890. 2
53622811891. 3
53622811892. 4

Question Number : 49 Question Id : 5362283054 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The advent of nationalizm led to

(1) Competing identities

(2) Single 1dentity across the nation

(3) The emergence of a unified cultural repertoire

(4) Unity within diverse 1identities

Options :

53622811893. 1
53622811894. 2
53622811895. 3
53622811896. 4

Question Number : 50 Question Id : 5362283055 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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The new cultural understanding does not fit inte the traditional notion of culture due to

(1) New modes of communication

(2) Traditional social divisions of labour

(3) Integrated sets of meanings
(4) The creation of a strong nation-state
Options :

53622811897. 1
53622811898. 2
53622811899. 3
53622811900. 4

Question Id : 5362283050 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No

Question Numbers : (46 to 50)

Question Label : Comprehension

Fr=ferigs e 1 SAAEE 92 S 9 (46-50) F T S

A I TEFHAF HEARETE A AiEEE: R v #1Y W W w2 A 9w fAeE 2
Wmmwwwaﬁmﬂﬁﬁmngﬁquqﬂw—mwwmﬁ
TF T29 F GUFER H HEiEd 7 ?ﬂ"‘ﬂa‘l AT = TEEH mmnmm"ﬁmﬂmm T!'”$
Wqﬂ&WWM——rmqwumwﬁwnrqﬂﬁmmﬁrﬂﬁmﬂﬁmmm
ﬁWWWFWHﬂFmWFﬁTdT&WﬂWﬂTﬂWHWM
= THEAT * " TH RN GHTST SISAl % 90 AW HEI-1E Wie e © 9 T8 HEvd U -
FH G Hed B AT | 35F WeEl 74 WEd 7 6 9EaE o a9 § Uianies =Y ° wE: 319 w7
o1 T 9= TmEEioa |5 da AR ffys 71 Sl £ | 35 TR 9REE 6 SR S § Aeias 9ig 1o
T F IEHT AT TEARE F AWAS G F EY-mg 55, (FEH A ST TR Al Etemge
WﬁHWWWWWWWTWﬁWW’EIﬁﬁHWﬁ@
SREE ¥ UF AW {9 9 52, 9% T UH 96T 0 5 7 O AR " wE i dJ6 watas e
o TR R, WE AW S 9 A9 TR H I §ed 6, §un # 9T ugEar 6 uemea-sey 48 %
T TS H 9iEed W O Sl # | 98 IeenaE 7 T Aresfas aeey S uaaiayasd et
Eumwm.ﬂmm.m-mwmmmﬁmmﬁmmnwu

Sub questions

Question Number : 46 Question Id : 5362283051 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T THA T HICHAF T F Fe i g 4 B 7
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Options :

53622811881. 1
53622811882. 2
53622811883. 3
53622811884. 4

Question Number : 47 Question Id : 5362283052 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TEaE § EAfAEd T = # aafd = e
(1) === =
(2) 9 THIEA 9 HOEAA]

(3)  wfaEm Hmw

(4)  TEITAF S99 4 F G998 T AT
Options :
53622811885. 1
53622811886. 2
53622811887. 3
53622811888. 4

Question Number : 48 Question Id : 5362283053 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

ORI B9 H UEEE ° Feteiad # 0 e e w0 vt we w

{1} TR THTH 'i-..-H.\d.-\.\-H (2} J,q.P-'TrtaF]-!_‘f ﬁ fDTEB_] ol
(3)  wiemm digan (4) FEAIHF IOF
Options :

53622811889. 1
53622811890. 2
53622811891.3
53622811892. 4

Question Number : 49 Question Id : 5362283054 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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AT % I299 F FEo ffarad e

{1} Dré.i::q':ﬁ Tail-

(2)  HYU TE H UHA TEEE

(3) U UHIHA HIEHAF HE F I
(4) Tafaga ge=mi + =g v

Options :

53622811893. 1
53622811894. 2
53622811895. 3
53622811896. 4

Question Number : 50 Question Id : 5362283055 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T HIEHF S et 3§ s e 5eha S T R % ggE A8 26

(1)  H=n # 7E ggfaat
(2) A9 T TEREFE "HETSF [GHra
(3) % % HHFRT YR

(4) TF Agd UZ-T=F F g

Options :

53622811897. 1
53622811898. 2
53622811899. 3
53622811900. 4

PART II Population Studies
Section Id : 53622842

Section Number : 2
Section type : Online
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Sub-Section Number : 1 reenelfreme cuice
Sub-Section Id : 536228122
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 5362283056 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who among the following argued that multiple centres of nuclel were responsible for urban
growth?

(1) Harris and Ullman (2) Homer Hoyvt
(3) Park and Burgess (4) Nelson
Options :

53622811901. 1
53622811902. 2
53622811903. 3
53622811904. 4

Question Number : 51 Question Id : 5362283056 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
freaferfiad § @ forae 72 aererd i ol o i gfe o fore s (Fmehz) o st 392 21 Toaren 27

(1)  =fa Uz e @) ama
(3) Uz PR S
Options :

53622811901. 1
53622811902. 2
53622811903. 3
53622811904. 4

Question Number : 52 Question Id : 5362283057 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In which vear. the National Sample Survey (NSS) was set up?

(1) 1950 (2) 1960
(3) 1970 (4) 1980
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53622811908. 4

Question Number : 52 Question Id : 5362283057 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
i wfdasl Jd e (U9 vd us) fF A end gaa?

(1) 1950 (2) 1960
(3) 1970 (4) 1980
Options :

53622811905. 1
53622811906. 2
53622811907. 3
53622811908. 4

Question Number : 53 Question Id : 5362283058 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

According to 2011 census, which Union Territory of India has lowest literacy rate?

(1) Chandigarh (2) Puducherry
(3) Andaman & Nicobar Islands (4) Dadra & Nagar Havell
Options :

53622811909. 1
53622811910. 2
53622811911.3
53622811912. 4

Question Number : 53 Question Id : 5362283058 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

2011 = SR o SAN, GWA & fFE g el gesy Ry aremen 5 Had #5027

(1)  ==r 2 gz
(3)  EH iR ferram 419wz (4) @ S R E e
Options :

53622811909. 1
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Question Number : 54 Question Id : 5362283059 Question Type : MCQ Option Shuffling : No Is"Quéstion
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Duuring which period. India entered into the fourth phase of high population growth?

(1) 1891-1921 (2) 1921-1951
(3) 1951-1981 (4) 1981-2011
Options :

53622811913. 1
53622811914. 2
53622811915.3
53622811916. 4

Question Number : 54 Question Id : 5362283059 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fora wwrata & M wra 3= s 3fe o =g = E e fen?

(1) 1891-1921 (2) 1921-1951
(3) 1951-1981 (4) 19812011
Options :

53622811913. 1
53622811914. 2
53622811915. 3
53622811916. 4

Question Number : 55 Question Id : 5362283060 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which United Nations World Population Conference adopted the world Population Plan of
Action?

(1) Bucharest 1974 (2) Mexico 1984
(3) Belgrade 1965 (4) Cairo 1994
Options :

53622811917. 1
53622811918. 2
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Correct Marks : 2 Wrong Marks : 0 e

forat g 112 fava stey) suteE O fored fava siase e i =1 sifisr T mn?

(1)  FEwE 1974 () ufaE 1984
(3)  welE 1965 (@) =i 1994
Options :

53622811917. 1
53622811918. 2
53622811919. 3
53622811920. 4

Question Number : 56 Question Id : 5362283061 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which one of the following 1s used to calculate the rate of natural increase in human

population?

(1) CBR - CDR (2) CDR+ CBR

(3) CDR — CBR (4) CBR + CMR
Options :

53622811921. 1
53622811922. 2
53622811923. 3
53622811924. 4

Question Number : 56 Question Id : 5362283061 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

yy=e srEvE o arEfde afe Fi 2 & wron o o Sefafiad 3 4 fome wam fen 27

(1)  Hisl = —H 2 s (2) Hi g HAE + i 3m
(3)  H1El ww —H &l ww (4) = 3T+ vg s
Options :

53622811921. 1
53622811922. 2
53622811923.3
53622811924 4
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Which vear 1s called the ‘demographic divide’ in India?

(1) 1881 (2) 1901
(3) 1921 (4) 19561
Options :

53622811925. 1
53622811926. 2
53622811927.3
53622811928. 4

Question Number : 57 Question Id : 5362283062 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
qd § Seifegr fEarsm & w9 ° fa ad 6 s s 2e

(1) 1881 (2) 1901
{(3) 1921 (4) 1951
Options :

53622811925. 1
53622811926. 2
53622811927. 3
53622811928. 4

Question Number : 58 Question Id : 5362283063 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which among the following 1s correct formula for Whipple's Index?

(Sum of population aged 25. 30.35......60) _
(1) - x 500
Sum of total population of all ages

(Sum of population aged 25, 30. 35...... 60)
(2) - %100
Sum of total population of all ages

(Sum of population aged 25, 30. 35. ..... 60)
(Sum of total population aged 23 to 62)

(3) = 500

(Sum of population aged 30, 35...... 60, 65)
Sum of population aged 25, 30..... 75

(4) « 500

NOntfione *
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Question Number : 58 Question Id : 5362283063 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
feeme g o Tt A 33 fafafsa 5 a9 a1 27

(1) (25, 30, 35. .... 60 3712 = &1 st=¥Em =1 2471)

x 500
Hdl A7 = = JH SEE 5 A
(2)  (25. 30, 35. .... 60 = = i SHEED F A7)
- = 100
A4l R R o H S A
(3)  (25. 30, 35. ... 60 3 F £ THFE F AFT) "
= 500
(23 4 62 371 = | SHEd 1 A7)
(4 (30.35. ... 60, 65 AR T F TS FAM) 25

25, 30, ... 75 T a7 1 TSI H1 4

Options :

53622811929. 1
53622811930. 2
53622811931. 3
53622811932. 4

Question Number : 59 Question Id : 5362283064 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What 1s the annual permissible concentration of PM 2.5 in the air. according to World
Health Orgamsation (WHO)?

(1) 60 ,ug,f'rm3 (2) 50 u gfma
(3) 10 ug/m? (4) 30 ug/m?
Options :

53622811933. 1
53622811934. 2
53622811935.3
53622811936. 4

VaVY LR VA Y P2 a YL o . L V2 T e T 1 Vo N a YL s n T W rarlaYYa YL <l TR . . LIS YR Y a Y L
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1) 60 ug/m? (2) 50 ug/m?
(3) 10 yg_,ffm,a (4 30 u gf m®
Options :

53622811933. 1
53622811934. 2
53622811935. 3
53622811936. 4

Question Number : 60 Question Id : 5362283065 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The growth rate of population in India during 2001-2011 was :

(1) 14.9% (2) 15.5%
(3) 17.7% 4 21.2%
Options :

53622811937. 1
53622811938. 2
53622811939.3
53622811940. 4

Question Number : 60 Question Id : 5362283065 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
2001-2011 % SR 9Hd H s gfy &t o

(1) 14.9% (2) 15.6%
(3) 17.7% (4) 21.2%
Options :

53622811937. 1
53622811938. 2
53622811939.3
53622811940. 4

Question Number : 61 Question Id : 5362283066 Question Type : MCQ Option Shuffling : No Is Question
Mandatoryv * No
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Which one of the following census can be considered the first modern census in the world?

(1) Swedish census (2) Bntish census
(3) Indian census (4) South African census
Options :

53622811941. 1
53622811942.2
53622811943. 3
53622811944. 4

Question Number : 61 Question Id : 5362283066 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

faeferfia ST E 3 R fava 1 weefl s smEn =) o gl 27

(1) =i s @ Sl s
(8) SRR SR (4)  =feon snfieR SR
Options :

53622811941. 1
53622811942. 2
53622811943.3
53622811944. 4

Question Number : 62 Question Id : 5362283067 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
The density of population of India in Census 2011 1s:

(1) 371 (2) 382
(3) 390 (4) 401
Options :

53622811945. 1
53622811946. 2
53622811947.3
53622811948. 4

Question Number : 62 Question Id : 5362283067 Question Type : MCQ Option Shuffling : No Is Question
Mandatorv : No
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2011 | ST o AHE 9T o SHEE g4 fohe 27

(1) 371 (2)y 382
(3) 390 (4) 401
Options :

53622811945. 1
53622811946. 2
53622811947.3
53622811948. 4

Question Number : 63 Question Id : 5362283068 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who has introduced the hypothesis of intervening opportunities in migration studies?

(1) Wilbur Zelinski (2)y K. Zipf
(3) Corrado Ginni (4) Samuel Stauffer
Options :

53622811949. 1
53622811950. 2
53622811951. 3
53622811952. 4

Question Number : 63 Question Id : 5362283068 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
A S U eraai et e ) aeheun e afaied 17

(1)  deaR sfa==h @2 . favs
(3) e fird (4) MU =TH
Options :

53622811949. 1
53622811950. 2
53622811951. 3
53622811952. 4

Question Number : 64 Question Id : 5362283069 Question Type : MCQ Option Shuffling : No Is Question
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The estimated Whipple's Index value 120 indicates that age data 1s:

(1) Highly accurate (2) Moderate
(3) Not accurate (4) Highly inaccurate
Options :

53622811953. 1
53622811954. 2
53622811955.3
53622811956. 4

Question Number : 64 Question Id : 5362283069 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
SUTHA f2uel o1 Ha% OH 120 91701 2 6 39 &1 A2

(1)  wfd vl (2) #Huw
@  oRge (4) fa smfers
Options :

53622811953. 1
53622811954. 2
53622811955. 3
53622811956. 4

Question Number : 65 Question Id : 5362283070 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

According to causes of death statistics, 2010-13. which one of the following is the leading
(highest) cause of death among rural females population in India?

(1) Respiratory diseases (2) Cardiovascular diseases
(3) Respiratory infections (4) Tuberculosis
Options :

53622811957. 1
53622811958. 2
53622811959. 3
53622811960. 4

Question Number : 65 Question Id : 5362283070 Question Type : MCQ Option Shuffling : No Is Question
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U % 00 % 2010~13 % 3121 % sar ara § reiv wfzensii 1 gog #1 waifaes Fo fafaiad 4 |
HAATRT

(1) a8 Hasf sfiufa (2) e s
(3)  vEEE HFHY (4) &9 1m
Options :

53622811957. 1
53622811958. 2
53622811959. 3
53622811960. 4

Question Number : 66 Question Id : 5362283071 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which among the following states in India, urbanisation percentage is the highest, according
to 2011 census?

(1) Tamil Nadu (2) Maharashtra
(3) Gujarat (4) Kerala
Options :

53622811961. 1
53622811962. 2
53622811963.3
53622811964. 4

Question Number : 66 Question Id : 5362283071 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
2011 1 SHEE % AR gwd 8 FHefafea el g 3 el s aiaem adiis 27

(L) A @) wenng
(3) e (4) Fre
Options :

53622811961. 1
53622811962. 2
53622811963. 3
53622811964. 4
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Which state has the highest percentage of Christians in India. as per 2011 census?

(1) Goa (2) Manipur
(3) Meghalaya (4) Nagaland
Options :

53622811965. 1
53622811966. 2
53622811967. 3
53622811968. 4

Question Number : 67 Question Id : 5362283072 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
201 151 SHITOH % SER, WA 4 TR T O daredi 1 waifies ufaere e s 27

(1) T (2 afirg
(3)  HHed (4) AT
Options :

53622811965. 1
53622811966. 2
53622811967. 3
53622811968. 4

Question Number : 68 Question Id : 5362283073 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which one 1s not true when the base of population pyramid is shrinking?

(1) Increase of longetivity in population
(2) High population growth
(3) Decrease in dependency ratio

(4) Declhining fertility

Options :

53622811969. 1
53622811970. 2
53622811971. 3
5367272811972 4
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Stal SAEE foafiye =1 saw At 21 @1 2 A FHefaiaa 43 #1 aqad 4227

(1) =4 # i % 4 gig
(2) I dfa
(3)  Taedwm 5o 4

{4) T4 d: 2149
Options :
536228119609. 1
53622811970. 2
53622811971. 3
53622811972. 4

Question Number : 69 Question Id : 5362283074 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which was the Mascot of Indian Census 20117

(1) A teddy bear
(2) A woman enumerator
(3) A child and mother

(4) A helping hand symbol

Options :

53622811973. 1
53622811974. 2
53622811975. 3
53622811976. 4

Question Number : 69 Question Id : 5362283074 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
AR SRV 2011 1 99 Heforiad 44 #H a3 a7

(1) faen g (28 dien)

iy == TTOTITETT
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Options :

53622811973. 1
53622811974. 2
53622811975. 3
53622811976. 4

Question Number : 70 Question Id : 5362283075 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Which of the following are major principles of smart city growth?

(A) Uniform land uses

(B) Range of transport choices

(C) Preserve open space, farmland. natural beauty
(D) Compact building design

(E) Encourage community collaboration in decision-making

Choose the correct answer from the options given below :

(1) (A). (B). (D) only (2) (A). (D). (E) only
(3) (B). (C). (D). (E) only (4) (A). (B). (C). (D). (E) only
Options :

53622811977. 1
53622811978. 2
53622811979. 3
53622811980. 4

Question Number : 70 Question Id : 5362283075 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
ward fadi o fasr & v T Feforfiaa O @ a9 &7
(A) U HEE gy I37m
(B)  arerETd fawedi 4 i
(C)  Hel ¥, el <1 s a1 wrRfdes di= =1 e
(D)  3E 9a4 T

@) Fia i & angaifas sesnfi 1 s 2

_{\l_;f 'F.J; 'IT;'I 'I"":'!'_'L‘":j’; 1-:';' '|':’} 1'!".'_;'11 ———— L'I'r‘"l";l -
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Options :

53622811977. 1
53622811978. 2
53622811979. 3
53622811980. 4

Question Number : 71 Question Id : 5362283076 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The tendency of population to grow after achieving the replacement level of fertility 1s known
as :

(1) Population explosion (2) Population momentum
(3) Population structure (4) Population stablization
Options :

53622811981. 1
53622811982.2
53622811983. 3
53622811984. 4

Question Number : 71 Question Id : 5362283076 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

IS = TR T %] U A o 618 SHEE] de4 F waia swwend 27

(1)  S5E fAoee (2)  SHEES TN
(3)  SETE] Al (4) e feader
Options :

53622811981. 1
53622811982. 2
53622811983. 3
53622811984. 4

Question Number : 72 Question Id : 5362283077 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following 1s one of the indicator used to compute ‘Human Development Index'?

(1) Infant mortality rate (2) Morbidity rate
(3) Life expectancy at birth (4) Death rate
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53622811988. 4

Question Number : 72 Question Id : 5362283077 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
A T8 HFTF ieeH 4 W qes | H Fefefaa 9 6 a2t

(3) W % wOy sfEq e 4) e
Options :

53622811985. 1
53622811986. 2
53622811987.3
53622811988. 4

Question Number : 73 Question Id : 5362283078 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A country with a constant growth rate of 2.36 percent, approximately. How many years it
will take to double its population?

(1) 27 years (2) 30 years
(3) 33 vears (4) 36 vears
Options :

53622811989. 1
53622811990. 2
53622811991. 3
53622811992. 4

Question Number : 73 Question Id : 5362283078 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
2.36 wiawrd &1 feen afg = % ane Tl S o) steen errn forae @t | <o & st ?

() 279 (2) 3099
(3) 33 (4) 364
Options :

53622811989. 1
53622811990. 2
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Mandatory : No
Correct Marks : 2 Wrong Marks : 0

What 1s straddling birth interval?

(1) The period between two live births
(2) The period elapsed since the last live birth till survey date

(3) The closed birth interval which includes the survey date and ends after this date in
future

(4) The pericd from the survey date to the date of next birth

Options :

53622811993. 1
53622811994. 2
53622811995. 3
53622811996. 4

Question Number : 74 Question Id : 5362283079 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
wrefem s sioTe a1 27
(1) =1 SifEa ==21 & 59 == $l s
(2) it Sifaa = % 9 3 wdem faiy g sgda safa)
(3)  eIEE I sfavrel Tormd weeqw Tafer iy 2 s sn aiasy 1 g9 fafy & @ w2 9 2)
(4) e fafa & swret @ o 59 i fafa 6 safa)

Options :

53622811993. 1
53622811994. 2
53622811995. 3
53622811996. 4

Question Number : 75 Question Id : 5362283080 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
What kind of settlement pattern will be developed when built up area 1s less compact?

(1) Clustered (2) Dispersed
(3) Semi-clustered (4) Hamleted
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Question Number : 75 Question Id : 5362283080 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

gfe farez sy ufray %49 3@ 2 41 9 y=n o1 safam urey faefaa e

(1)  T=er (FrEed) @ i (feomg)
(3) Ui Fered (4) A (BHeres)
Options :

53622811997. 1
53622811998. 2
53622811999. 3
53622812000. 4

Question Number : 76 Question Id : 5362283081 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which 1s the state with highest population of scheduled tribes in India, as per 2011 Census?

(1) Gujarat (2) Madhva Pradesh
(3) Maharashtra (4) Odisha
Options :

53622812001. 1
53622812002. 2
53622812003. 3
53622812004. 4

Question Number : 76 Question Id : 5362283081 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

2011 SRV o SFER, HE114% SH S0 S e 059 FH 91 87

1) e (2) HeAdEs)
(3)  uHEWI (4) stz
Options :

53622812001. 1

EN£6D97°71"5°Y0Wn\)D D
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Mandatory : No
Correct Marks : 2 Wrong Marks : 0

In which of the following yvear, Comprehensive National Nutrition Survey (CNNS) was
conducted?

(1) 2015-16 (2) 2016-17
(3) 2016-18 (4) 2017-19
Options :

53622812005. 1
53622812006. 2
53622812007. 3
53622812008. 4

Question Number : 77 Question Id : 5362283082 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

ST TET T Fed e (Hi vq ve ug) Feafafea J 9 fa ad 5 oo

(1) 2015616 (2) 2016-17
(3) 2016-18 (4) 2017-19
Options :

53622812005. 1
53622812006. 2
53622812007. 3
53622812008. 4

Question Number : 78 Question Id : 5362283083 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following migration theory postulates that migration 1s a natural outgrowth of
disruptions and dislocations that inevitably occur in the process of capitalist development?

(1) Dual Labor Market Theory (2) Neoclassical Economics Approach
(3) World System Theory (4) Network Theory
Options :

53622812009. 1
53622812010. 2

7395701959501 1 N
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Correct Marks : 2 Wrong Marks : 0

Fefafiaa ° & Fl9-a1 vaea faga g9z afingfea w2 6 gaem g fwm i ofewn § sofed =04
sfea garet faegs ain faremm =1 wnafie sfefg 27

(1)  Tz-=mqamm fagm (2)  FFFentEF] s Uy
(3)  Terva worrefi fagra (4) Fea+ fagmE
Options :

53622812009. 1
53622812010. 2
53622812011. 3
53622812012. 4

Question Number : 79 Question Id : 5362283084 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which one of the following 1s a cohort measure of fertility?

(1) Gross Reproduction Rate (2) Net Reproduction Rate
(3) Children Ever Born (4) General Fertility Rate
Options :

53622812013. 1
53622812014. 2
53622812015. 3
53622812016. 4

Question Number : 79 Question Id : 5362283084 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

ereferfiara o 2 o - = =) oiEd um 27

(1)  AFA A = (2) FEIFHE
(3) el Hal gy o (4) 3 T &
Options :

53622812013. 1
53622812014. 2
53622812015. 3
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Who among the following postulated the “Threshold Hypothesis” to explain fertihity
transition?

(1) Gosta Carlsson (2) Kingsley Davis
(3) John Bongaarts (4) The United Nations
Options :

53622812017. 1
53622812018. 2
53622812019. 3
53622812020. 4

Question Number : 80 Question Id : 5362283085 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

freferfian O 4 fored wsa Hagv) ) e 7 2 TarEET WEer (GeRee Britaa) # sifyam
feran 27

(3) SRR @) T
Options :

53622812017. 1
53622812018. 2
53622812019. 3
53622812020. 4

Question Number : 81 Question Id : 5362283086 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following state has negative population growth, as per 2011 census?

(1) Kerala (2) Nagaland
(3) Goa (4) Tamil Nadu
Options :

53622812021. 1
53622812022. 2
53622812023. 3
53622812024. 4

Question Number : 81 Question Id : 5362283086 Question Type : MCQ Option Shuffling : No Is Question
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2011 1 ST A, e s o sHeen gis e 2

(1)  *e (2) AFTETE
(3) =N (4) afgeTg
Options :

53622812021. 1
53622812022. 2
53622812023. 3
53622812024. 4

Question Number : 82 Question Id : 5362283087 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In a life table. T, represents total number of years lived beyond age x and is symbolically

written as :

® T,=T. +L, 2)  Ty=Lyy+L,

(3) T,=T,.4,+L, (YL =k s+ L,
Options :

53622812025. 1
53622812026. 2
53622812027. 3
53622812028. 4

Question Number : 82 Question Id : 5362283087 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Sfam wferar 4 o 3777 o e 571 8 o et ol o T, Sl o 2 sife 28 Wefterredsh 0 3 foren st 27

1 T,=T,,+L, @ T,=L,+L,
3 T.=T._,+L_ 4 T.=L_,+L,
Options :

53622812025. 1
53622812026. 2
53622812027. 3
53622812028. 4

o~ e P - o o~ e - - e . . ., v~ e — - am o~ o~ 2~ e C~w e kE o - w e~
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Which one of the following index 1s used to measure the extent of preference for age ending
with digit ‘0’ and '5'?

(1) Bogue's Index (2) Myer's Index
(3) UN Age-Sex Accuracy Index (4) Whapple's Index
Options :

53622812029. 1
53622812030. 2
53622812031. 3
53622812032. 4

Question Number : 83 Question Id : 5362283088 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

0 371 s @ wum B arefl sy o fora wafuera % faear % A1 % fore Freaferfag 3 8 oW m g ay®
2lefl 27

(1) =/ g=FF (2) °rg g
(3) A w-fom e g (4) feruel qersi
Options :

53622812029. 1
53622812030. 2
53622812031. 3
53622812032. 4

Question Number : 84 Question Id : 5362283089 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
According to causes of death statistics 2010-13. in India. ten leading causes of death
accounts for almost:

(1) 70% (2) 7T4%
(3) 78% (4) B84%
Options :

53622812033. 1
53622812034. 2
53622812035. 3
53622812036. 4
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U] % O F 2010~ 13 % FFel F FATHN, I0E 4 gog o 280 T Frop 3 e Feafefiad ufasme @961 2

(1) T0% (2)y 7T4%
(3) 18% (4) 84%
Options :

53622812033. 1
53622812034. 2
53622812035. 3
53622812036. 4

Question Number : 85 Question Id : 5362283090 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who proposed ‘Intermediate Variables Framework’ in the field of fertility?

(1) Bongaarts (2) Coale and Hover
(3) Davis and Blake (4) Caldwell
Options :

53622812037. 1
53622812038. 2
53622812039. 3
53622812040. 4

Question Number : 85 Question Id : 5362283090 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

G o A H Hegd] st frae wfaarfa £

(1)  arndy (2) I HREH
(3)  =fa sin sc= (4) Fezad
Options :

53622812037. 1
53622812038. 2
53622812039. 3
53622812040. 4
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For which combination of diseases specific public programme strategies are implemented by
the Government?

(1) Malaria and Dengue (2) Cancer and Cardiovascular Disease
(3) TB and HIV (4) STI and HIV
Options :

53622812041. 1
53622812042. 2
53622812043. 3
53622812044. 4

Question Number : 86 Question Id : 5362283091 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

HTERTT g1 oA STl o 77 o fafre sewmEsa Heiaa ot s el e

Q) e s @ S 3 gzt )
@ Il e A (4 AL S s
Options :

53622812041. 1
53622812042. 2
53622812043. 3
53622812044. 4

Question Number : 87 Question Id : 5362283092 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which one of the following 1s not a measure of association for cohort studies?

(1) Rate ratio (2) Attmbutable risk
(3) Odds ratio (4) Population attributable risk
Options :

53622812045. 1
53622812046. 2
53622812047. 3
53622812048. 4
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#iled sy o fofu Fferfiaa 4 4 909 @ g 39gin 98 fn s 27

(1) = I (2) HEre SifEn
(3)  fomm samE (4) SHEEE S STy
Options :

53622812045. 1
53622812046. 2
53622812047. 3
53622812048. 4

Question Number : 88 Question Id : 5362283093 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which among the following Union Territory has the lowest population growth rate during
2001-11 census?

(1) Lakshadweep (2) Andaman and Nicobar
(3) Della (4) Chandigarh
Options :

53622812049. 1
53622812050. 2
53622812051. 3
53622812052. 4

Question Number : 88 Question Id : 5362283093 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fod ez STTTaa a9l o1 SHEEaT gia 21 2001 -2011 i S afa 4 =Hqg 27

(1) @5 (2) A=A 37 HEEm
3 &g (4) =g
Options :

53622812049. 1
53622812050. 2
53622812051. 3
53622812052. 4
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Which one of the following country has the highest Total Fertility Rate (TFR) in the world.
as per the World Population Data 2018 (Population Reference Bureau)?

(1) Gambia (2) Somalia
(3) Chad (4) Niger
Options :

53622812053. 1
53622812054. 2
53622812055. 3
53622812056. 4

Question Number : 89 Question Id : 5362283094 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fava srien wiFg-2018 (SHen ded o) % wgEn Frafenaa § @ fr @ A 39 SR @
(& v ap) watias 27

(1)  afesEn (2) @rifern
(3) ELE (4) HrEa
Options :

53622812053. 1
53622812054. 2
53622812055. 3
53622812056. 4

Question Number : 90 Question Id : 5362283095 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which one of the following 1s part of ‘factors affecting exposure to conception’ according to
the Davis and Blake Framework. 19567

(1) Age at marriage (2) Use of Contraception
(3) Voluntary Abstinence (4) Faetal Mortality
Options :

53622812057. 1
53622812058. 2
53622812059. 3
53622812060. 4
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2o iR st SFEEAL, 1956 % HHER, THER I FEE1 ) Yaifad # arel FRE F ar HefeiEd 4 |
HHH 27

(1)  faam= Fi3y 2 i w1 W
(3) = s (4) g0l
Options :

53622812057. 1
53622812058. 2
53622812059. 3
53622812060. 4

Question Number : 91 Question Id : 5362283096 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who among the following applied micro-economic theory and postulated trade-off between
‘Quantity and Quality’ of children to explain fertility dechine?

(1) Richard Easterlin (2) Gary Becker
(3) Harvey Leibenstein (4) J.C. Caldwell
Options :

53622812061. 1
53622812062. 2
53622812063. 3
53622812064. 4

Question Number : 91 Question Id : 5362283096 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fefrfiaa 4 4 fraq gsH4 1 fEe 61 s9wed) %7 o 9eg-aide e a1 a=h &) @ SR ET F
a1 ST et w1 9 e v

% ReEsER @ M
G =R (4) S.H. Feaa
Options :

53622812061. 1
53622812062. 2
53622812063. 3
53622812064. 4
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According to causes of death statistics in India, which one of the following represents
prematurity and low birth weight causes of death (for both male and female) in ages below
29 Days 1n 2010-20137

{1) 47.0% (2) 49.5%
(3) 48.1% {4) 49.0%
Options :

53622812065. 1
53622812066. 2
53622812067. 3
53622812068. 4

Question Number : 92 Question Id : 5362283097 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
U o I o 2010-13 o SRl & HTHE, HOY 94 ud [ F0 97 o FHE a4 gfdee g (9= vd
sl 2H1 o for) 1 9eg 20 f29 8 % g 4 Sl 29

(1) 47.0% (2) 49.56%
(3) 48.1% (4) 49.0%
Options :

53622812065. 1
53622812066. 2
53622812067. 3
53622812068. 4

Question Number : 93 Question Id : 5362283098 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which one of the following statement 1s true as per Census of India, 20117

(1) Population enumeration in snow-bound areas occurred during 9 to 28
February, 2011.
(2) Total number of enumerated households were 240 million

(3) National population Register in coastal areas occurred in January, 2011
(4) Total enumeration blocks completed were 3.47 mallion.
Options :

53622812069. 1
53622812070. 2
53622812071. 3
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Correct Marks : 2 Wrong Marks : 0 personal Bxams cuide
A il S, 201 1 % SgEE HefofEd 3 9 19 @ wem 58 27
(1) sty giome, 96T &6 d o 8 28 wEf, 2011 % 5w fo 1)
(2) T gfeam i @ 240 MR o)
(3) TP s i a4 & | sEad 2011 9 9fed ga)
(4) "o gfenE siE 3,47 fofers gof o )
Options :
53622812069. 1
53622812070. 2

53622812071. 3
53622812072. 4

Question Number : 94 Question Id : 5362283099 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following organisation is responsible for official population projection in India?

(1) Central Statistical Organisation (2) Registrar General of India
(3) National Sample Survey Organisation (4) NITI Ayog

Options :

53622812073. 1
53622812074. 2
53622812075. 3
53622812076. 4

Question Number : 94 Question Id : 5362283099 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

aqred 4 Ao st e o fore sewErfl wee At @ 8w e

(3) T ufeayl A @A (4)  Hifa s
Options :

53622812073. 1
53622812074. 2
53622812075. 3
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Correct Marks : 2 Wrong Marks : 0

Which one 1s not a qualitative technique of data collection?

(1) Household interview (2) Indepth interview of keyv Informants.
(3) Focus group discussion (4) Observation
Options :

53622812077. 1
53622812078. 2
53622812079. 3
53622812080. 4

Question Number : 95 Question Id : 5362283100 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Treferfiaa o =+ van sware drew ) uEEl T 98 27

(1)  JHEH HETFR (2) WY H g T EEeT
(3) iz ayr-viEE @) e
Options :

53622812077. 1
53622812078. 2
53622812079. 3
53622812080. 4

Question Number : 96 Question Id : 5362283101 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Following sets of prescriptions were advanced by Malthus to possibly restrict population
ocrowth.

(A) Means of subsistence

(B) Positive checks

(C) Birth spacing

(D) Preventive checks.

Choose the most appropriate answer from the options given below:

(1 (@A), (C). (D) only
(2) (A, (B). (C) only
(3) (A). (B). (D) only

(4)  (B). (C). (D) only
Options :
53622812081. 1
53622812082. 2
53622812083. 3
53622812084. 4

Question Number : 96 Question Id : 5362283101 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Frefeafia w2l o dy=rdi =1 Wewa g0 STiEd sHEeEd dfg 1 G o oo fasmfoa fa g

(A)  sfifas F e
(B)  HFRIHF 7914
(C) o4 —3F=Tel

(D) w3y

Ferferfiaa faeredl O A waifas s9ge s g
(1) =4 (A). (C). (D)
(2)  FE (A (B). (O)
(3) 4 (A), (B). (D)

(4)  Fa (B). (C). (D)
Options :
53622812081. 1
53622812082. 2
53622812083. 3
53622812084. 4

Question Number : 97 Question Id : 5362283102 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Which of the following questions were used to measure migration in the Census of Trdia.
20117

(A) Birth Place

(B) Place of residence at a fixed prior date

(C) Duration of stay since migration

(D) Reason of migration

Choose the correct answer from the options given below:

(1) (A). (B). (C) only
(2) (A). (C). (D) only
(3) (B). (C). (D) only

(4) (A). (B). (D) only
Options :
53622812085. 1
53622812086. 2
53622812087. 3
53622812088. 4

Question Number : 97 Question Id : 5362283102 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

a6 ST, 201 18 FeAforfEa O 8 #6133 gvE 6 saeE gniE =+ oo gy fe e an?

(A) o
(B) v 4 fafv=m avma w A & =
(C)  Ya¥H % 1% 2271 | 37

(D) U944 =l &Y
13 o T el i e e

(1) %49 (A). (B), (C)
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Options :

53622812085. 1
53622812086. 2
53622812087. 3
53622812088. 4

Question Number : 98 Question Id : 5362283103 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following are addressed through spatial statistical analy=sis?

(A) Time series analysis

(B) Spatial Autocorrelation

(C) Modifiable areal unit problem
i) Boundary problem

(E) Spatial sampling procedure

Choose the correct answer from the options given below:

(1) (A). (B). (C). (D). (E) only
(2) (B). (C). (D). (E) only
(3) (A). (B), (C). (D) only

(4) (A). (B). (C}. (E) only

Options :

53622812089.
53622812090.
53622812091.
53622812092.

AW N =

Question Number : 98 Question Id : 5362283103 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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ropTier wiferd] fvemo & meag g fFafefias O 9 e goam Fa sran e v

(A) - e favem

(B)  *9ii-e =94 e -Hay
(C)  uiaed &b $978 /e
(D) i\ HuE

(E)  Teqmfes 9u1 i
1 3 v o] 3 B A 3e g -

(1) %4 (A), (B), (C), (D), (E)
(2) % (B). (C). (D), (E)
(3) &= (A). (B). (C), D)

(4) & (A). (B). (C). (B)

Options :

53622812089. 1
53622812090. 2
53622812091. 3
53622812092. 4

Question Number : 99 Question Id : 5362283104 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Which of the following are part of the Burgess's Concentric Zone model of urban land use?

(A) Zone of stagnation

(B) Central Business district
(C) Zone 1n transition

(D) Better residences

(E) Commuter Belt

Choose the correct answer from the options given below:

(1)  (A). (B). (C) only
(2) (B). (C). (D). (E) only
(3) (A (C). (D). (E) only

(4) (A). (B). (C). (D) only

Options :

53622812093. 1
53622812094. 2
53622812095. 3
53622812096. 4

Question Number : 99 Question Id : 5362283104 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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faeferiiaa | 4 = | F & Frigia 941 & FEEE SH wiga & 97 27
(A) i = &

(B) = sqanives e

(C)  H&Fov &

(D) e HAEME

(E)  Irfi daen

S IERCORIDREE e R R R Rt e (E DR
(1) %=+ (A). B). (C)

(2) %4 (B), (C). (D). (E)
(3)  Had (A). (C). (D). (E)

(4)  Had (A). (B). (C). (D)

Options :

53622812093. 1
53622812094. 2
53622812095. 3
53622812096. 4

Question Number : 100 Question Id : 5362283105 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Health and Wellness Centers envisaged to deliver which of the following services?

(A)
(B)
(C)
(D)
(E)

Choose the correct answer from the options given below:

(1)
(2)
(3)

(4)
Options :

MCH care

Care for NCDs

Palliative and Rehablitation care
Mental health care

Chronic communicable diseases’s care

(A) and (B) only

(A). (B) and (C) only

(A). (B), (C) and (D) only
(A). (B). (C). (D) and (E) only

53622812097. 1
53622812098. 2
53622812099. 3
53622812100. 4
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Question Number : 100 Question Id : 5362283105 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(A)  Hig-farg sEaE

(B)  iEaw T 1 dEarE

(C)  399IH W qHaE HaHi gEvre
(D)  OHEF @ ST

(B) ol gl s i qaars
SRR PR BRI
(1) e (A) 31 (B)

(2)  Fdd (A), (B) 31 (C)

(3)  @dd (A), (B). (C) 3 (D)

(4)  %a@ (A), (B). (C). (D) =1 (E)

Options :

53622812097. 1
53622812098. 2
53622812099. 3
53622812100. 4
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Question Number : 101 Question Id : 5362283106 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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According to SRS bulletin of May 2019, arrange the following states in descending order
(high to low). by their level of infant mortality for the year 2017.

(A) Madhya Pradesh

(B) Rajasthan

(C) Odisha

(I Telangana

Choose the most appropriate answer from the options given below:

(1) (A). (B). (C).(D) only
(2) (B). (A). (D).(C) only
(3) (A). (C). (B).(D) only

(4) (D). (C), (B). (A) only
Options :
53622812101. 1
53622812102. 2
53622812103. 3
53622812104. 4

Question Number : 101 Question Id : 5362283106 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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UH. SR UE, JeifA, B3, 2019 % wn feafafg e ) aws g e me—qmmm?afﬁﬂﬂaﬂ%ﬁ

(F=1 4 ) 9 9 syafeea Fifau
(A) T LY

(B) T

(C)  3dm

(D)  derrH
A1 T2 fased] O 3 48 3 90
(1)  #ad (A). (B). (C). D)
(2) %4 (B). (A). (D). (O)
(3) %4 (A). (C). (B). (D)
(4)  &de (D). (©). (B). (A)
Options :

53622812101. 1
53622812102. 2
53622812103. 3
53622812104. 4

Question Number : 102 Question Id : 5362283107 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Which one of the following come under the scope of ‘Village Health Sanitation and Nutrition

Commitee (VHSNC)™?

(A) Social determinants of health
(B) Decentralized health planning
(C) Child malnutrition

(D) MCH and Family Planning
(E) Skill development

Choose the most appropriate answer from the options given below:

(1)
(2)
(3)
(4)

Options :

(C). (D) and (E) only
(C) and (D) only

(A) and (C) only

(A). (B), (C). (D) only

53622812105. 1
53622812106. 2
53622812107. 3
53622812108. 4

Question Number : 102 Question Id : 5362283107 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(B)  fashdiga wame fraem

(C)  ITed gy

(D)  vAH e, vag giEn s

(E) w9 fmm

1 e fehed] | 39 3o e

(1) = (C), (D) 37 (E)

(2) %A (C) 30 (D)

(3) el (A) 3 (C)

(4)  F9d (A). (B). (C). (D)
Options :

53622812105. 1
53622812106. 2
53622812107. 3
53622812108. 4
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Question Number : 103 Question Id : 5362283108 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Which of the following services are planned under the Health and Wellnes Centres?

(A) Screening and management of NCDs
(B) Basic oral health care

(C) Ophthalmic and ENT services

(D) Adolescent health care

(E) Emergency medical care

Choose the correct answer from the options given below:

(1) (A), (D) and (E) only

(2) (A (B). (D) only

(3)  (A). (B). (C). (D) only

(4) (A). (B). (C). (D). (E) only

Options :

53622812109. 1
53622812110. 2
53622812111.3
53622812112. 4

Question Number : 103 Question Id : 5362283108 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(&)  wH FuE, % | 3N g
(B)  [Ed difigs ERed A

(C) HF 3w A, Ham

(D) Teremorsen e gEae

(E)  #efays Ffram saara

14 ez v Tarared] O B\ 3o 0
(1)  Fae (A). (D) 1 (E)

(2)  F44 (A). (B), (D)

(3)  #ael (A). (B). (C). (D)

(4)  Fael (A). (B). (C). (D). (E)

Options :

53622812109. 1
53622812110. 2
53622812111. 3
53622812112. 4

Question Number : 104 Question Id : 5362283109 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Which of the following statements are assumptions of the linear regression method.

(A) The relationship between Y and X 1s hinear.
(B) The residual terms are interdependent
(C) The errors have a zero mean and constant variance

(D) For each value of "X’ the residuals have a normal distribution about regression line.

Choose the most appropriate answer from the options given below:

(1) (A). (B). (C). (D) only
(2) (A). (C). (D) only
(3) (A). (B), (D) only

(4) (B). (C). (D) only

Options :

53622812113. 1
53622812114. 2
53622812115.3
53622812116. 4

Question Number : 104 Question Id : 5362283109 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(A) Y SCX F o gy i 2

(B)  saisre 98 wew i 2 2

(C) e 1 v wea SR fa st 2l 2

(D) X = Ueds §eg o fofu S7afengl & 9re §HeEEv fd & 90 f9a 2 2
Al o i faepei 0 4 48 3o e

(1) el (A). (B). (O). (D)

(2) %44 (A). (C). (D)

(3)  &ad (A). B). D)

(4)  ad (B). (C). (D)

Options :

53622812113. 1
53622812114. 2
53622812115.3
53622812116. 4

Question Number : 105 Question Id : 5362283110 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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According to ‘Global Hunger Index’ data 2019. Which one of the following 1s correct sequence

of positions of countries from lower to higher?

(A)
(B)
(C)
(D)

Choose the most appropriate answer from the options given below:

(1)
(2)
(3)
(4)

Options :

Sr1 Lanka. Nepal, Pakistan, Bangladesh, India
Sr1 Lanka, Nepal, Bangladesh, Pakistan, India
Sr1 Lanka, India, Nepal. Bangladesh, Pakistan
India, Sr1 Lanka, Nepal. Bangladesh, Pakistan

(A) only
(B) only

(C) only
(D) only

53622812117. 1
53622812118. 2
53622812119. 3
53622812120. 4

Question Number : 105 Question Id : 5362283110 Question Type : MCQ Option Shuffling : No Is Question

Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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(Ay  ieTR, 9976, TIREAR, SerEy, Wi
(B) iR, 49, SitelS9l, TfFEAH, Wi
(C)  #ietar1, 9d, 9T, SPaTEs], Ui

(D)  9Wd, #Ter=, T, SR, Tl

<2 o 1 el ) e e e

(1)  =det (A)

(2)  F94 (B)
(3)  =Had (C)
(4) 4« (D)

Options :

53622812117. 1
53622812118. 2
53622812119. 3
53622812120. 4

Question Number : 106 Question Id : 5362283111 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Which among the following are hormonal contraceptives?

(A) Oral pill
(B) Condom
(C) Injectables

(D) IUD

Choose the most appropriate answer from the options given below:

(1) (A). (B) and (C) only
(2) (A) and (B) only
(3) (A) and (C) only

(4) (B). (C) and (D) only

Options :

53622812121. 1
53622812122.2
53622812123.3
53622812124. 4

Question Number : 106 Question Id : 5362283111 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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2ria e fus fefefaa d a 9 4 87
(A) e fua
(B) =M

(C)  SolddideH

(D) HAEIE

41 T3 3 famed] 4 9§ el 3o g
(1)  &ad (A). (B) 31 (C)

(2)  Fad (A) 30 (B)

(3)  wHad (A) FH(C)

(4) %4 (B), (C) 3l (D)

Options :

53622812121. 1
53622812122.2
53622812123. 3
53622812124. 4

Question Number : 107 Question Id : 5362283112 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Arrange the following states 1n descending order according to percentage of pr:npulgjcrmn in the
age group 60 year and above to the total population of the atate as per SRS statistical report
2017.

(A) Karnataka

(B) Maharashtra

(C) Tamil Nadu

(D) Himachal Pradesh

(E) Punjab

Choose the correct answer from the options given below:

(1) (D). (C). (E). (B). (A4)
(2) (D). (E).(C). (A). (B
(3) (O (B), (A). D). (E)
(4 (E). D). (C). A). (B)

Options :

53622812125. 1
53622812126. 2
53622812127. 3
53622812128. 4

Question Number : 107 Question Id : 5362283112 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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ug 3 uE "ifed foae 2017 % sigam, Feafatad T 60 99 3 308 S F mqqfrﬁm?r
ferTd % SIET SEE w § sraftod s .

(A)  FATEH
(B)  HEWmE
(C)  dferrg

(D) fear=a vem

(E) H&mH
EIERCORIDRE Cor R R R e (e

(1) (D). (C). (E). (B). (A)
(2) (D). (E), (C). (A), (B)
(3) (C). (B}, (A). (D). (E)

(4)  (E). (D). (C). (A). (B)
Options :
53622812125. 1
53622812126.2
53622812127.3
53622812128. 4

Question Number : 108 Question Id : 5362283113 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Arrange in chronological order (Beginning from first) different approaches adopted by Indian
Family Planning Program.
(A) Reproductive and Child Health Approach
(B) The Integrated Approach
(C) Camp Approach
(D) Clinic Approach

(E) Extension Approach

Choose the correct answer from the options given below:

(1) (B). (C), (D). (E). (A)
(2) (4). (B). (C). (D). (E)
(3) (D). (E). (B). (C). (A)

(4) (B). (D). (E). (A). (C)
Options :
53622812129. 1
53622812130. 2
53622812131.3
53622812132. 4

Question Number : 108 Question Id : 5362283113 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



www.prepp.in

prepp

Your Personal Exams Guide
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(A) US4 Ud dTel e 9ETH
(B)  wHfsHa 39mmH

(C) 113U

(D)  Taettes 3o

(E)  Tazam 39
e fe 1 el 4 3 ol 37 g

(1)  (B). (C). D). (E). (&)
(2)  (A), (B). (C). (D). (E)
(3) (D). (E). (B). (C). (&)

(4 (B). (D). (E). (A). (C)
Options :
53622812129. 1
53622812130. 2
53622812131.3
53622812132. 4

Question Number : 109 Question Id : 5362283114 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Which should be the characteristics of good research objective?

(A) Specific

(B) Timebound
(C) Measurable
(D) Sensitive

(E) Realistic

Choose the correct answer from the options given below:

(1)  (B). (C) only

(2) (A (B). (C) only

(3) (A). (B), (C). (E) only
(4 (A). (B), (C). (D) only

Options :

53622812133. 1
53622812134.2
53622812135.3
53622812136. 4

Question Number : 109 Question Id : 5362283114 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(A)
(B)
(C)
(D)

(E)

A f2a

(1)

(2)

(3)

(4)
Options :

fefame

HO9d5

PpEie

gagsfie

FeTeETEl

T fasedl 4 3 9 3w g
Fae (B). (C)

Fad (A). (B). (C)

Fad (A), (B). (C), (E)

F4e (A). (B). (C). (D)

53622812133. 1
53622812134.2
53622812135.3
53622812136. 4
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Question Number : 110 Question Id : 5362283115 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Which of the following are anthropogenic aerosols?

(A)
(B)
(C)

(D)

Choose the correct answer from the options given below:

(1)
(2)
(3)
(4)

Options :

Smolke
Dust
Fog

Geyzer steam

(A) and (B) only
(A}, (B) and (C) only

(B) and (D) only

(A), (B) and (D) onlyv

53622812137. 1
53622812138.2
53622812139.3
53622812140. 4

repp

Your Personal Exams Guide

Question Number : 110 Question Id : 5362283115 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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A) g

(B) o

(C)  FEMl

(D) s =i

1 o m fareredl O B\ S

(1) = (A) 31 (B)

(2)  &Ad (A), (B) 31 (C)

(3)  %ad (B) 31 (D)

(4)  FaFd (A). (B) 31 (D)
Options :

53622812137. 1
53622812138.2
53622812139.3
53622812140. 4
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Question Number : 111 Question Id : 5362283116 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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In order to calculate sample size for prevalance study. which of the following information are
required?

(A) Prevalence rate from previous studies

(B) Allowable error

(C) Level of Significance

(D) Population of the area

(E) Standard deviation of parameter under study

Choose the correct answer from the options given below:

(1)  (A). (B). (C) only
(2)  (A). (B). (C). (D) only
(3)  (A). (B). (C). (E) only
4  (B). (C). (D). (E) only

Options :

53622812141. 1
53622812142. 2
53622812143.3
53622812144. 4

Question Number : 111 Question Id : 5362283116 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(4)
(B)
(C)
(D)

(E)
Hr= T2
(1)
(2)

(3)

(4)
Options :

fara seraEl | fuder 2

Heed % L

33 & &l S

HAEIFA & SHeptd aifa uHge | g9 fJaem
i el 8w T

Fae (A). (B). (C)

F4 (A). (B). (). (D)

*dd (A). (B). (C). (E)

Fad (B). (C). (D). (E)

53622812141. 1
53622812142.2
53622812143.3
53622812144. 4
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Question Number : 112 Question Id : 5362283117 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Match List I wath Last IT

(A)
(B)
(C)

(D)

Tast I

International Women's Day

World Environment day

World Population Day

International Yoga Day

List IT

(I} 21 June
(I) 8 March
(TITy 5 June

(IV) 11 July

Choose the correct answer from the options given below:

(1)
2
(3)
(4)

(&)-(1). (B)-(II). (C)-(IV). (D)-(I)
(A)-ID). (B)-(ILI). (C)-(D).(D)-(IV)
(A)-(1D). (B)-I). (C)-(IV). (D)-(I)
(A)-(I1D). (B)-(1I). (C)-(I). (D)-(IV)

Options :

53622812145. 1
53622812146.2
53622812147.3
53622812148. 4
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Question Number : 112 Question Id : 5362283117 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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gefi Tkt =i 11 % | gfera i ;

(A)
(B)
(C)
(D)
(1)
(2)
(3)
(4)

Options :

a1
ST ufeen fea
forsa vt feam
favs s fzam
T fased] | 398 I g
(A)-(1D), (B)-(IID). (C)-(IV). (D)-(T)
(A)-(1D), (B)-(11D). (C)-(D).(D)-(IV)

(A)-(II). (B)-(1D). (C)-(IV). (D)-(I)
(A)-(II). (B)-(1D). (C)-(D). (D)-(IV)

53622812145. 1
53622812146. 2
53622812147.3
53622812148. 4

(I
(II)
(IT)

(IV)

g4l 1T
2154
8 HT=
55
11 et
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Question Number : 113 Question Id : 5362283118 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Match List I wath Last IT

(A)
(B)
(€)

(D)

List I (Quality of Data)

Highly accurate
Fairly accurate

Approximate

Rough

Prepp
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List IT (Range of Whipple's Index)

(I 195-175
(IT) 105-110
(ITII) 110-125

(IV) under 105

Choose the correct answer from the options given below:

(1)
2
(3
4

Options :

(A)-(IV), (B)-(II). (C)-(ITI). (D)-(D)
(A)-IV). (B)-(I1D). (C)-(L).(D)-(T)
(A)-(IID). (B)-(IV). (C)-(D. (D)-(ID
(A)-(I0). (B)-(IV). (C)-(IL), (D)-(D

53622812149. 1
53622812150. 2
53622812151. 3
53622812152. 4

Question Number : 113 Question Id : 5362283118 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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g1 1
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(A) 3HcHd 918

(B) 3f=a®143E

(C) HfeFe

(D)  spufreFa
1 T3 el 1 & | 3w gf
(1) (A)-AV). (B)-(II), (C)-(IIL). (D)«(T)
(2) (A)-AV). (B)-(III). (C)-(II).(D)-(D)
(3) (A)-II). (B)-(IV). (C)-(I), (D)-(1I)
(4)  (A)-IID. (B)-AV). (C)-(II). (D)-(I)

Options :

53622812149. 1
53622812150. 2
53622812151.3
53622812152. 4

(I)
(II)
(I1D)

(IV)

repp
g1 11
feegen gt 1 i
195-175
105-110
110-125
1054 T

Question Number : 114 Question Id : 5362283119 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Match List I with List IT
List I Last IT
(A) Linear growth function k
D  p= a=bt

l1-e
(B) Exponential growth function I p,=pl+rf
(C) Geometric Growth function (II) p, = p,(1+7t)
(D) Logistic curve (IV) p, = pe”

Choose the correct answer from the options given below:

(1)  (A)-ID. (B)-(IID. (C)-(IV). (D)-(I)
(2) (A)-(III), (B)-(IV). (C)-(II).(D)-(I)
(3)  (A)-dID. (B)-(). (C)(ID. (D)-(IV)
4 (A-@. B)-IV), (O)-IID). (D)-(II)

Options :

53622812153. 1
53622812154.2
53622812155.3
53622812156. 4

Question Number : 114 Question Id : 5362283119 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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gl I a1 &= 11 = s gfetd e .

(A)

(B)
(C)
(D)

el I

=rarhl afg g
wanmfetg afa wwrd
AT (dAfTafeF) 9%

<t o el o e o

(1
(2)
(3)
(4)

Options :

(A)-ID. (B)-(IID. (C)-(IV). (D)-(I)
(A)-1D). (B)-AV). (O)-ID.(D)-(D)
(A)-ID. B)-(D). (OID). (D)-(IV)
(A)-(I). (B)-(IV), (C)-(IID). (D)-(II)

53622812153. 1
53622812154.2
53622812155.3
53622812156. 4

Prepp

ersonal Exams Guide

o=l 11

k
D b =1

(D)  p;=poll+rf
(IT) p; = pp(1+ri)

(IV) p; = pee”

Question Number : 115 Question Id : 5362283120 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Match List T with List IT

List I List IT
(A) Temporary absense of menstruation (I} Fecundity
(B) Onset of menstruation (I) Amenorrhea
(C) Physical capacity to reproduce (ITI} Menopause
(D) End of menstruation (IV) Menarche

Choose the correct answer from the options given below:

1) Q-0 B)-IV). (O)-@). (D)-AID
@) (A)-AI). B)-AV). (C)-D).(D)-A)
(3)  (A)-AQV). (B)-(ID). (C)-(IL). (D)-(I)
4 (A)-aV). (B)-D, (C)-(II), (D)-(ID)

Options :

53622812157. 1
53622812158. 2
53622812159. 3
53622812160. 4

Question Number : 115 Question Id : 5362283120 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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{1 Teh =1 11 = |19 gfor $ifao

(&)
(B)
(C)

(D)

o I

wrfirer o o sveerd] sty
wfe o ] e

Favad (Toiregs) =6 s e

aifier a9 &1 ST =58 2

i fed o farped] B & wdl we Af

(1)
(2)
(3)
(4)

Options :

(A)-(ID, (B)-(IV). (C)-(I), (D)-(I1I)
(A)-(11I). (B)-(IV). (C)-(I),(D)-(1I)
(A)-IV). (B)-(III). (C)-(IT). (D)-(D)
(A)-(IV). (B)-(D), (C)-(III). (D)-(II)

53622812157. 1
53622812158.2
53622812159. 3
53622812160. 4

prepp
gl 11
(D 99 I A5
(D) undTE
(IIT) ¥eiifafa

(IV) 994 TS1Esiq

Question Number : 116 Question Id : 5362283121 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Match List I wath List IT
ListI List II
(A) Child Marriage Restraint Act (H 1929
(B) Domestic Violence Act (I) 1986
(C) Child Labour Prohibition Act (IID) 1971

(D) Medical Termination of Pregnancy Act (IV) 2005

Choose the correct answer from the options given below:

(1 (@-Ad). B)-1V). (C)-aD. (D)-(IID)
(2)  (A)-AD. B)-D). (C)-(I1).(D)-IV)
(3)  (A)-ID. B)D). (C)-(II). (D)-(IV)
4  (A-aV). ®)-ID. (C)-IID. (D)-(D

Options :

53622812161. 1
53622812162. 2
53622812163. 3
53622812164. 4

Question Number : 116 Question Id : 5362283121 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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=l T o1 = 11 o w9 gufera ifau

(A)
(B)
(C)

(D)

g4 1

At faae e sifsafem (@)
ie] fean saferfan (ID)
EIGECR EEPEPIERE (IIT)

Fafercrehra warr g e Aty (IV)

A1 52 fawed] 1§ 3 98 3o i

(1)
(2)
(3)
(4)

Options :

(A)-@). (B)-(IV), (C)-(ID). (D)-(I1T)
(A&)-(D). (B)-(I). (C)-(I1L).(D)-(IV)
(A)-ID). (B)-(D). (C)-(ID). (D)-IV)
(&)-@V). (B)-(II). (C)-(IID). (D)-(I)

53622812161. 1
53622812162. 2
53622812163. 3
53622812164. 4

g1 11
1929
1986
1971

2005

Prepp
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Question Number : 117 Question Id : 5362283122 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Match List T with Last IT

(A)

(B)

(C)

(D)

ListI

Major employment centre In a region
and encompassing surrounding areas.

Built- up area formed by coalescence
of once-separate urban settlements

A core urban area and hinterland of
population

Projected  urbamised world or
universal eity by end of 21 st century

(I)

(II)

(IIT)

(IV)

repp

Your Personal Exams Guide

List IT

The urban field
Ecumenopolis
Conurbation

The City Region

Choose the correct answer from the options given below:

(1)
(2)
(3)
(4)

(A)-(IV). (B)-(I11), (C)-(I), (D)-(II)
(A)-(IID). (B)-(I). (C)-(IV).(D)-(II)
(A)-IV). (B)-(II), (C)-(III). (D)-(T)
(A)-(IID). (B)-(1). (C)-(II). (D)-(IV)

Options :

53622812165. 1
53622812166. 2
53622812167. 3
53622812168. 4

Question Number : 117 Question Id : 5362283122 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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lﬁﬁ Ia:?.i W‘T ]:[ ? HT?I E‘L‘fa—ﬁ ﬁf ] : Your Personal Exams Guide
q41 I gl 1T
(A) Tl e =1 greg T 3 sm-TmE (D) AT diee
&= =1 | ford #7%d 2y
(B) Uk Qe 1A HEE 1 dfdiferd g/ A D gEguEmieE
T faree -3 &

(C) U W= A & 3P S w9y (IID) HervHT suafamn (FEaem)
(D) 21 #i wraredl &1 @wM @ FEiFd G IV) v=dem
AT HrE S I 1 AT FA]

el & fased § 3 |dl IR g

(1) (A)-AV). (B)-(IID). (C)-(D). (D)«(IT)
(2 (A-d). (B)-@). (C)-IV).(D)ID
(3)  (A)-IV). (B)-). (C)-I1), (D)-(D)

(4  (A)-IID. (B)-D). (C)-(ID). (D)-AV)
Options :
53622812165. 1
53622812166. 2
53622812167.3
53622812168. 4

Question Number : 118 Question Id : 5362283123 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Match List I with Last IT
List I List IT
Description Life table function
(A) Number of survivers at exact age x @ I. +5
L
(B) Number of person-vears lived in the (II) L,
exact age x
(C) Probability of survival between age x T
to x+0 D f
(D) Expectation of life at age x (IV) Ix

Choose the correct answer from the options given below:

(1)
(2)
(3)

(4)
Options :

(A)-(@). (B)-(ID). (C)-(IID). (D)-AV)
(A)-ID, (B)-(D. (C)-(IID). (D)-(IV)
(A)-(AV), (B)-(ID). (C)-(I). (D)-(IIT)
(A)-(IV). (B)-(I1D), (C)-(I). (D)-(I)

53622812169. 1
53622812170.2
53622812171. 3
53622812172. 4

Prepp

ersonal Exams Guide

Question Number : 118 Question Id : 5362283123 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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=il To1 g 11 % #1e gufera Fifa ;

(A)

(B)
(C)

(D)

gl I
= |

avﬂﬁﬂrﬂxmﬁ?ﬁﬁﬁiﬁlﬁﬂ

Feqred 7Y x W AP 1 HEAstiad
xH x + 5 A F fta A Sl 1 Hura

x AT W SHTEA YT

A &2 ma faedl 8 3 9 3 i

(1)
(2)
(3)
4

Options :

(A)-(D). B)-(ID). (O)-(I1D). (D)-(IV)
(A)-(ID). (B)-(D). (C)-(ILD). (D)-IV)
(A)-(AV). (B)-(ID). (C)-(I), (D)-(1I)
(A)-(IV). (B)-(IID). (O)-(II). (D)-(I)

53622812169. 1
53622812170. 2
53622812171.3
53622812172. 4

Question Number : 119 Question Id : 5362283124 Question Type : MCQ Option Shuffling

Mandatory : No
Correct Marks : 2 Wrong Marks : 0

(I)
(I)
(IIT)

(IV)

repp

Your Personal Exams Guide

: No Is Question
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Niabede Toant T witbh Tiet TI R
List T Last IT
A C, (I)  Index of lactational infecundability
B) C. (II) Index of induced abortion
(C) C, (III) Index of marriage
(D) G (IV) Index of non-contraception

Choose the correct answer from the options given below:

(1)  (A)-dID. B)-I). (C)-AV), (D)-(II)
(2)  (A-ID. (B)-(ID). (C)-(D.(D)-(IV)
(3)  (A)-AV). (B)-(D. (C)-(II). (D)-(III)

(4) (A)-(1II). (B)-(IV). (C)-(ID). (D)-(D)
Options :
53622812173. 1
53622812174.2
53622812175.3
53622812176. 4

Question Number : 119 Question Id : 5362283124 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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preee
|1 o1 9ol 11 o =19 gafora s ;
gl 1 gl 11

A4 G, M) F=EE S A

B) C, (D) T SHEE e

(C) C, (IIT) Taare siag=

D) G (IV) g —ndfqiieas siu=
A1 o faeredl O | w3 i

(1) (A)-(II). (B)-(I). (C)-(IV). (D)-(II)
(2)  (A)-AD. B)-IID. (C)-(D.(D)-AV)
(3) (A)-(IV). (B)-(D. (C)-(IL). (D)-(ILI)

4)  (A)-IID. (B)-IV). (C)-(1), (D)-(I)
Options :
53622812173. 1
53622812174. 2
53622812175.3
53622812176. 4

Question Number : 120 Question Id : 5362283125 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List T with Last 1T

List I List IT

(A) Individual decision and human capital (I) Peggy Lewvitt

(B) Social remittances (II) Wilbur Zelinski
(C) Mobility transition (III) Larry Sjaastad
(D) Dual Labour market (IV) M.d. Piore

Choose the correct answer from the options given below:

(13 (AT, (BT, (CYyATIT. (IN-(TVY
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Options :

53622812177. 1
53622812178. 2
53622812179. 3
53622812180. 4

Question Number : 120 Question Id : 5362283125 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

|1 T &= 11 o = gafora fife ;

g 1 g1 11
(A) sFefasse fzdism ve 7 Fiea @ Wi e
(B) i tfud-am (I faesn sifer==f
(C) Hifaferdl 2™ (IID) o =g
(D) g3%ed ol Uik (IV) . fasii

A=t T2 i fasmed] 8 ol 3 i

(1) (@A-@. B)-1D), (C)-(IIL). (D)-(IV)
2y (A-D. B)-IV), (C)-I1).(D)-(III)
(3)  (A)-dID. (B)-I). (C)-(D). (D)-(IV)
(4 (A)-dID. (B)-(I). (C)-(ID). (D)-(IV)

Options :

53622812177. 1
53622812178. 2
53622812179. 3
53622812180. 4

Question Number : 121 Question Id : 5362283126 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Match List—I with List IT

(A)
(B)
(C)

(D)

ListI

1891 — 1921
1921-1951
1951-1981

1981- 2011

(I)
(ID)

(ITT)

(Iv)

Prepp

ersonal Exams Guide

Last II
Rapid high growth rate
Stagnant population

High growth with definite signs of
slowing down

Steady growth

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

Options :

(A)-(@V). (B)-(III). (C)-(II). (D)-(I)
(A)-D). (B)-(IV). (C)-(I), (D)-(I1I)
(A)-@). (B)-(ID), (C)-(I11). (D)-(IV)
(A)-IID. (B)-(IV), (C)-(D). (D)-(I)

53622812181. 1
53622812182.2
53622812183.3
53622812184. 4

Question Number : 121 Question Id : 5362283126 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Hfl Toht g1 11 < =19 gafaa fifsm

gl T = 11
(A) 1891-1921 I dmI=mafgs
(B) 1921-1951 (D) T sEE
(C) 1951-1981 (IIT) i o fAfv=a dehd = |19 3= afg
(D) 1981-2011 (IV) wed dfa

A1l T2 7 faeped] § 4 98 3o i

D (A)-AV). (B)-ID. (O)-1D). D)-(D)
(2)  (A)-ID. (B)-(IV). (C)-(I). (D)-(I1T)
(3)  (A)-d). (B)-(ID). (O)-(III). (D)-(IV)
(4) (A)-(III), (B)-(IV). (C)-(II). (ID)-(I)

Options :

53622812181. 1
53622812182.2
53622812183. 3
53622812184. 4

Question Number : 122 Question Id : 5362283127 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following are three pre-conditions for a susbstantial fertility decline according
to Ansley Coale?

(A) Acceptance of calculated choice in marital fertility
(B) Knowledge of effective techniques of fertility control
(C) Perception of advantages from reduced fertility

(D) Knowledge about mortality and health transition

Choose the most appropriate answer from the options given below :

(1) (B). (C). (D) Only

b s (==Y i ! | !
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Options :

53622812185. 1
53622812186. 2
53622812187. 3
53622812188. 4

Question Number : 122 Question Id : 5362283127 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
el el & FTER, T4 51 1 y=iy frvge i dF 96 -vrd Fefetad O J siE-6 27
(A)  Farfes ye 4 gl faeren ) s
(B) =4 e i et aerr R S
(C) =Y s I BT w1 3

(D)  EUrEfierdn s Fames Ty & =1 § 714

e fu e fasred| 4 | w1 3w 90

(1) %4 (B). (C), (D)
(2)  FaE (A). (B). (D)
(3)  Fdd (A). (B). (C)

(4)  #ad (A). (0). (D)
Options :
53622812185. 1
53622812186. 2
53622812187.3
53622812188. 4

Question Number : 123 Question Id : 5362283128 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Which of the following are correct for ‘Aspirational District’ program by NITI Aavog:

(A) 5 main themes

(B) 28 States

(C) 49 key performance indicators
(D) 115 districts

(E) Convergence of activities

Choose the correct answer from the options given below :
(1) (B). (C). (D) Only

(2) (A). (B). (C). (D). (E) Only

(3) (A). (C). (D) Only

(4 (A). (B). (C). (D) Only

Options :

53622812189. 1
53622812190. 2
53622812191.3
53622812192. 4

Question Number : 123 Question Id : 5362283128 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Hifa seram & wrdwn el fen & fow fasfafiaa 89 #9039 w27
(A)  5yEgfam
(B) 2879
(C) 49 49Ed 959 o
(D) 115 T
(E)  SHTF&Te srdaer

1= o o famred] O & w3 9

(1) == (B). (C), (D)
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Options :

53622812189. 1
53622812190. 2
53622812191.3
53622812192. 4

Question Number : 124 Question Id : 5362283129 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Mateh —Last T with Last IT

List T List IT

(A) Correlation analysis (I} Compare more than 2 means of given
guantitative variables

(B) Chi-sguare test (II) Association 1n more than two
categories of qualitative variables

(C) Regression analysis (III) Change 1n outcome variable due to
influencing variables
(D) ANOVA (IV) Change in direction of two

quantitative variable

Choose the correct answer from the options given below :

(L (A)-OV). (B)-(II). (C)-(III). (D)-(D)
(2)  (A)-aV). (B)-(10). (C)-(I), (D)-(IIL)
(3)  (A-dD. (B)-(IV). (O)-(I), (D)-(I1T)

(4  (A)-ID. (B)-(IV), (C)-(III). (D)-(I)
Options :
53622812193. 1
53622812194.2
53622812195. 3
53622812196. 4

Question Number : 124 Question Id : 5362283129 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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HA1 o1 3= 11 |19 gt $ifso

e I
(A) Heday (FifweE) e

(B) 13- FFa i

(C)  =EnzEm ( frgon ) fagem

(D) UHE (ANOVA)

< Fit 1 et 1l e o

D) (A-aV), B-aD, (©-1ID), D)-D
@  (&-aV), B)-aD, ©-D, D)-1ID
@  (A)-aD. B)-IV). ©-D. O)-1ID
@  (A)-AD. B)-IV). (©-IID. D)-D

Options :

53622812193. 1
53622812194.2
53622812195. 3
53622812196. 4

Your Personal Exams Guide

1 11

(I)  Tou o gysneds (Fatedfza) =9 & 2 § 31
q1Ed] ] el FE 7

(I Tomedsk = <1 €1 | safers 4o § Hag
(IIT) waTfad &3 9rel =7 & ase § gford =7 g
BliECE

(IV) &1 arareds: =7 1 faan 4 feadq

Question Number : 125 Question Id : 5362283130 Question Type : MCQ Option Shuffling : No Is Question

Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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According to comprehensive National Nutritional Survey 2016-2018, arrangéourstates n

descending order (High to low) according to percentage of adolescents with iron deficiency

(A) Rajasthan
(B) Gujarat

(C) Punjab

(D) Maharashtra
(E) Tamil Nadu

Choose the correct answer from the options given below :

(1) (E). (B). (C), (D). (A)
(2) (C). (A). (B). (E). (D)
3) (A (C). (B). (D). (E)
(4) (C). (A). (B). (D). (E)

Options :

53622812197. 1
53622812198. 2
53622812199. 3
53622812200. 4

Question Number : 125 Question Id : 5362283130 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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prepp
SN TEHE AT HHEA 2016~ 18 % TR, Heffiad ved] 1 T 4 srE Fi w1 i e

o st & (3= () O sgatem .

(A)  TTSRUF
(B)  Tsd
(C) UM
(D)  HEWTg
(E) dfmerns

e fau e fasedi | | wdi 3 9o

(1)  (E). (B). (C). (D). (A)
(2) (O (A). (B). (E). (D)
(3) (A (C). B). (D). (E)

4) (). (A). (B), (D). (E)
Options :
53622812197. 1
53622812198. 2
53622812199.3
53622812200. 4

Question Number : 126 Question Id : 5362283131 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following are some new features introduced by the Census of India. 20117

(A) Date of birth question

(B) Separate codes for divorced and separated

(C) Caste

(D) Form Number

Choose the correct answer from the options given below :
(1) (A). (C). (D) Only

(2)  (B).(C). (D) Only
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53622812201. 1
53622812202. 2
53622812203. 3
53622812204. 4

Question Number : 126 Question Id : 5362283131 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No
Correct Marks : 2 Wrong Marks : 0

a4 201 1 1 9 =1 VA ZE AL TS F T8 [ e 7
(A)  w=a-fafy Jead o

(B)  AeThafEl S gerh gu safrrdi o foru stem e

(C) i

(D)  ®M T

A1 fou e fasred| 4 & W&l 39 91

(1) e (A). (C). (D)
(2) Fad (B). (C). (D)
(3)  #®ad (A). B). D)

(4 %4 (A), B). (C)
Options :
53622812201. 1
53622812202.2
53622812203. 3
53622812204. 4

Question Number : 127 Question Id : 5362283132 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Which of the following age groups were included in Comprehensive National Nutrition
Survey?

(A) 0-4

(B) 5-9

(C) 10-19

(D) 20-24

(E) 25-30

Choose the correct answer from the options given below :
(1) (C)

2 ®.(0)

(3) (A). (B), (C)

(49 (C). (D). (E)
Options :
53622812205. 1
53622812206. 2

53622812207. 3
53622812208. 4

Question Number : 127 Question Id : 5362283132 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Hl uq 13 tH (Comprehensive National Nutrition Survey) aeqm 4, fam Y arfi =1 s Toran
o7

(A) 0-4

B) 59

(C) 10-19

D) 20-24

(E) 256-30

413 fow o fopered o 8wt e g ;
(1) (©)

(2) (B). (C)

(3) (A (B).(C)
(4) (C). (D), (E)

Ontions *
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Question Number : 128 Question Id : 5362283133 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

How many states were covered under the Comprehensive National Nutrition Survey (CNNS)
recently conducted by UNICEF?

(1) 28 @) 30
(3) 32 (4) 35
Options :

53622812209. 1
53622812210. 2
53622812211.3
53622812212. 4

Question Number : 128 Question Id : 5362283133 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
AHEE SR BT § TH0 70 S0 T 0T HE o St f- e o eiee Teen

(1) 28 (2) 30
(3) 32 (4) 35
Options :

53622812209. 1
53622812210. 2
53622812211. 3
53622812212. 4

Question Number : 129 Question Id : 5362283134 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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According to SRS Bulletin of May 2019. arrange following states in ascending’ (I6Wer to

higher) order of IMR for the year 20177

(&)
(B)
(C)
(D)

(E)

Madhya pradesh
Assam
Chattisgarh
Bihar

Uttar pradesh

Choose the correct answer from the options given below :

(1)

(3)

Options :

(D). (E). (A). (B). (C)

(D). (C). (E), (B). (&)

53622812213. 1
53622812214.2
53622812215.3
53622812216. 4

2y (D). (E). (A). (C). (B)

(4) (D). (E).C) (B). A)

Question Number : 129 Question Id : 5362283134 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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ug 2019 U YFI9M (FeifaA) vA AR U8 2017 + 302 * AF90, FefafEa a9 1 36 96 4 96 5

AT AT (a4 3=) #9 1 syaiiE e

(A)  HETWEY]

(B) E S

(C)  wHTe

(D) fe=m

(E) 3w 9y

e fou o fased] § 8 |l 3@ g

(1) (D). (E). (A). (B). (C) (2) (D). (E). (A), (C). (B)

(3) (D). (C). (E). (B). (&) (4) (D). (E). (C). (B). (A)
Options :

53622812213.1
53622812214.2
53622812215.3
53622812216. 4

Question Number : 130 Question Id : 5362283135 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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According to SDG Index 2018 published by NITI Aavog., arrange fr:ﬂ_lr:ﬁw.'j_rlgY states 1n
ascending (low to high) order of their SDG index

(A) Himachal pradesh
(B) Tamil Nadu

(C) Goa

(D) Punjab

(E) Telangana

Choose the correct answer from the options given below :

(1) (C). (B). (A), (D). (E) (2) (), (B). (A). (E). (D)
(3) (B). (C), (D). (A). (E) 4) (D). (E) .(C). (B), (A)
Options :

53622812217. 1
53622812218.2
53622812219. 3
53622812220. 4

Question Number : 130 Question Id : 5362283135 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Hfifer sqrimn g sy wa € of sifrgeen  sman Rl s 9 3 v 4 S afageEs F S wa

(Fr=t & 3a) # sxaftaq ifs ;

(A)  femT=E wem

B)  dferg

(C) i

(D)  TE

(E)  denmH

< faw o Fersred| 6 3 ol 3w g0

D (©. ®). @A) D). B @ (©).®). &) E). @)

(3)  (B), (0). D). (A). (E) @ (D). (®. (). ®B), A
Options :

53622812217. 1
53622812218. 2
53622812219. 3
53622812220. 4

Question Number : 131 Question Id : 5362283136 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



www.prepp.in

prepp

As per the SRS Bulletin of May 2019 (data 2017). arrange following states in ascending

order of their birth rate (lower to higher).

(A)
(B)
(C)
(D)

(E)

Bihar

Madhyva pradesh
Rajasthan

Uttar pradesh

Chattisgarh

Choose the correct answer from the options given below :

(1)

(3)

Options :

(E). (©). (B). D). (A)

(C). (B), (E). (D). (A)

53622812221. 1
53622812222.2
53622812223.3
53622812224. 4

(2) (E). (C). (B). (A). (D)

(4) (C). (E). (B). (D). (A)

Question Number : 131 Question Id : 5362283136 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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w3 2019 il UH SR U gl (HFE 2017) ® HgER Heffaa o o= v g (Fe § =)

AT o syafor Fifso

(A) TaIER
(B)  Heg W9
(C)  TsHeH
(D)  I91ueE
(E) BT

= e fased] 0 8wt 3w g

(1) (E). (C). (B). (D). (&) (2) (E). (C). (B). (A). (D)
(3)  (C). (B). (E). (D). (A) (4)  (C), (E). (B). (D). (A)
Options :

53622812221. 1
53622812222.2
53622812223. 3
53622812224. 4

Question Number : 132 Question Id : 5362283137 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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According to SDG Index 2018 published by NITI Aayog. arrange following states in

ascending order of theiwr index (lower to higher)

(A)
(B)
(C)
(D)

(E)

Uttar pradesh
Bihar

Odisha

Madhya pradesh

Jammu and Kashmir

Choose the correct answer from the options given below :

(1)

(3)

Options :

(B). (A). (C). (D). (E) (2) (A (B). (). (D). (E)

(C). (B). (A). (D). (E) (4) (D), (C). (B). (A). (E)

53622812225. 1
53622812226.2
53622812227. 3
53622812228. 4

Question Number : 132 Question Id : 5362283137 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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i s g weTeE v < S Al 2018 F SEE TS ) 39 Atvges & s #w (e | =)

4 sqafeeq Fifso

(A) IS

B) faEm

(C)  #Hif=mm

(D)  HEA YW

(E) <0y 37 v

el fau 1o fosked] § | g 33 g

(1)

(3)

(B). (A). (C). (D). (E)

(C). (B). (A). (D). (E)

Options :

53622812225. 1
53622812226.2
53622812227.3
53622812228. 4

(2) (A). (B). (C). (D). (E)

(4) (D). (C). (B). (A). (E)

Question Number : 133 Question Id : 5362283138 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(Given below are two statements: One 1s labeled as Assertion A and the other 1s ?lu:riheled as

Eeasonk

Assertion (A):  Use of skilled birth attendants is highly correlated with lower maternal

mortality rates and reduction in neo-natal mortality

Reason (R) : There 1s strong positive relationship between household wealth and skilled
care at birth

In the hight of the above statements. choose the correct answer from the options given below :
(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)

(2) Both (A) and (R) are true but (R) 13 NOT the correct explanation of (A)

(3) (A)1s true but (R) 1s false

{(4) (A)1is false but (R) 1s true
Options :
53622812229. 1
53622812230. 2
53622812231.3
53622812232. 4

Question Number : 133 Question Id : 5362283138 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
A1 21 g Tou e 2) sk o sAfuskes (A) 3 28t %1 99 (R) F@1 =12

AluF=A (A) : FITA 9/ 9Hd TR o HA-3TER H AUETERT 9 W-eg @ R Fasma fam

(frit—aet) geg =2 | =l o e =ie HeEa )

@ (R) : T o9 S WHE & q9 FeTel Il o |G gog S4es Had 2
I 91 o sretten H e foemedl 8 8 wd s g

(1) (A 31 (R) sHTEE 2 31 (R). (A) Fl 92 ==y 2|

P e FAY ST Y AT T D urea Yy AN B I s o 2
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Options :

53622812229. 1
53622812230. 2
53622812231.3
53622812232. 4

Question Number : 134 Question Id : 5362283139 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Given below are two statements: One 1z labeled as Assertion A and the other is labeled as

Beason R

Assertion (A):  The formation of ‘Self Help Groups'of AIDS patients and their relatives 1s
difficult

Reason (R): The silence and stigma surrounding AIDS patients 1s major deterrent

In the hght of the above statements. choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and R 1= the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) 1s not the correct explanation of (4)
(3) (A)is correct but (R) is not correct

(4) (A) 18 not correct but (R) 1s correct

Options :

53622812233. 1
53622812234.2
53622812235.3
53622812236. 4

Question Number : 134 Question Id : 5362283139 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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411 21 o fqumo ¥) vk =) sifsrem (A) s 25 = @ (R) w1 2

SATUAA (A) : UZH % Hiisl 30 37 Gald] o = -HeEdar q92 #1134 g 2|
T (R): U % WS 8 S21 900 o et T T WilaE |
Tk s o sreien e fasmed] O & Bl 3w g

(1) (A) 3 R) SHTHE € 3 (R), (A) 6 ae savem 2|

(2) (A3 R) ZHTEE 9= (R), (A) 6 @ samen 58 2

(3)  (A)#H# 2, WA (R) H#e A1 2

(4)  (A)EAFE R, W R) 9 2

Options :

53622812233. 1
53622812234. 2
53622812235.3
53622812236. 4

Question Number : 135 Question Id : 5362283140 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement I : A research hypothesis 1s a prediction of a relationship between one or more

factors and the problem under study that can be tested

Statement II: A research hypothesis usually considers positive or negative effect of factors

under study on outcome variable

In the hight of the above statements.choose the correct answer from the options given below :

(1) Both Statement I and Statement II are true

(2) Both Statement I and Statement II are false

Faisth e T Y I T T D I . I I . & oy . . e
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53622812238. 2
53622812239. 3
53622812240. 4

Question Number : 135 Question Id : 5362283140 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

4 e feu e &)

FU9 () : TN Waked ] H5999 &) SAHare J9en 3% 396 vh a1 s Fl, S oo =

A 2, o s oh HelH H A 2 |

FoA (ID) : 919 TEReT=] 4 HHaR 9 9 I0nH 5 0 @eT0e & 345H FEH & FFEAHF 1 FFEREE

oure 9 fa=m fon s 2
IR AT & el H e Tl 4 3 g8 3w o4
(1) &9 (D) 3 (1D 2+ 98 2
(2) =Y () 3 (ID) 2141 el 2
(3) ¥ (D = 2, T %93 (1) Tefd 2

(4) =¥ () 38 2, g F2a QD ad 2

Options :

53622812237. 1
53622812238. 2
53622812239.3
53622812240. 4

Question Number : 136 Question Id : 5362283141 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Given below are two statements: One is labelled as Assertion A and the other is labelled as

Reason R.

Assertion (A): Women and children suffer more due to natural calamities and internal
conflicts

Reason (R) : Women and children are less mobile, owing to several reasons

In the light of the above statements. choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (4)
(2) Both (A) and (R) are true but (R) 13 NOT the correct explanation of (A)
(3) (A)1s true but (R) 1s false

(4) (A)1s false but (R) 18 true
Options :
53622812241. 1
53622812242. 2
53622812243. 3
53622812244, 4

Question Number : 136 Question Id : 5362283141 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
< Z1 ek fro e 3| ven o rfireeA (A) siv g @ (R) R R

AT (A): WA S9Eed S st Ted 3 afzend i e e st weTaa 2 8
& R) : fafers o <1 aste # afeen, i sr= e LIF S EEd F 91gd ¢
Juseh o % sttetish i P el 3§ & waifrs sy sa < -

(1) (A) 3w ®) 2198 2 3l (R). (A) 9 w8 =men 2

(2)  (A) R (R) 2H1HE 2 = (R), (A) il 9 samen 42 )
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Options :

53622812241. 1
53622812242.2
53622812243.3
53622812244, 4

Question Number : 137 Question Id : 5362283142 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Given below are two statements

Statement I: ‘Maternal Mortality Rate’ 1s number of mothers died due to birth related

factors per lakh mothers aged 15-49 years

Statement II : Maternal mortality ratio 1s number of mothers died due to birth related
factors per lakh births

In the light of the above statements. choose the most appropriate answer from the options

given below :

(1) DBoth stamentI and stament IT are correct
(2) Both statement I and statement II are incorrect
(3) Statement I 1s correct but statement II 1s incorrect

(4) Btatement I is incorrect but statement II is correct

Options :

53622812245. 1
53622812246. 2
53622812247.3
53622812248. 4

Question Number : 137 Question Id : 5362283142 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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1 Zr#eA faomo §)

FA4 (D) : Wi 4 &1 15 9 49 ¥ = &= 4 5y 1 ufd sk o g 8§ | o= % 99 3 2w
aHE H Wi ATl 9T il W 2

Fud (D) :  H1d 5eg HUE Sfd e i % sy ol g 3 o0 8 2 HrE ) ase Qe el g £

e 2
394 A1 o ATl H HeaTfehd fasiedl 4 4 waffaes 39 390 94 ¢

(1) %A (I) 381 (ID &1 #el 2
(2) & (D) 3 (1D 2 1 7 2
(3)  #9A (I) dcd 2, Tohd #9a (I 921 =1 2

(4)  *9A (D) F A 2, fiq woR @D Ed 2
Options :
53622812245. 1
53622812246. 2
53622812247.3
53622812248. 4

Question Number : 138 Question Id : 5362283143 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Given below are two statements:

Statement I : A country may have higher life expectancy and higher crude deaths rate as

well

Statement II: A country with higher life expectancy will never have higher crude death

rate

In the light of the above statements.choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement IT are incorrect

(3) Statement I is correct but Statement IT 1s 1ncorrect
(4) Statement I 1s incorrect but Statement IT 1s correct
Options :

53622812249. 1
53622812250. 2
53622812251. 3
53622812252. 4

Question Number : 138 Question Id : 5362283143 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
419 g1 %y fgu o &)

w94 (D) : Tl <o % g 3= Sfas geamn 3 I= Srenfod ey € g1 &l Jehdl Al
o (1) : T Siae TeaTn a7l 51 o 719 3= Hentad 90 o 1 78 71 't 2
I FUA & ATeATs 4 FHifad fawed 8 | watias 39y I 94

(1) ¥ (I) 3 (1D 24 od 3

() Y (D) 3 A0 1 58 T8 2

ey R R LR PR Lt g TR ... TR e e SR IO ST, RUNEIL O J8T - 1
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53622812249. 1
53622812250. 2
53622812251.3
53622812252. 4

Question Number : 139 Question Id : 5362283144 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

(Given below are two statements:

Statement I: AMRIT scheme launched by the Mimistry of Health and Family Welfare.
Gol aims to reduce expenditure incurred by patients on treatment of cancer

and heart diseases
Statement II: The scheme 1s inmitiated under NHM

In the hight of the above statements.choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect

(3) Statement I 1s correct but Statement I 1s incorrect
(4) Statement I is incorrect but Statement II is correct
Options :

53622812253. 1
53622812254. 2
53622812255.3
53622812256. 4

Question Number : 139 Question Id : 5362283144 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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4 g1 A fenam 2)

FoA (I) : T 37 IHER Fegm) 59769 7 394 9991 (AMRIT) 3% 61 7151 9Hd 90T 1 3871 01
1 et =1 sftanfeai ax s 1 a5 F 2

F94q (1) :  F2 Fro1 TETE ware f9M (U9 vd ul) &% sdaia 3 618 2

IR S o el § FeTiEd fased] § § waifs 3ugw 39 9H
() %94 (D) ¥ A0 < w4 2

(2 FEE (D 3 AD

(3) A (D) w2, g wem @D A A 2

(4) %94 (D) |1 340 7, e *9a (1D 941 2

Options :

53622812253. 1
53622812254. 2
53622812255.3
53622812256. 4

Question Number : 140 Question Id : 5362283145 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Given below are two statements:

Assertion (A) : Substantial public Investment in health and education is key to achieve

sustainable human development

Reason (R) : Rising inequality due to low public investment slows advances in human

development

In the hight of the above statements. choose the correct answer from the options given below :

(1)
(2)
(3)

(4)

Both (A) and (R) are true and (R) 18 the correct explanation of (A)
Both (A) and (R) are true but (R) 13 NOT the correct explanation of (4)
(A) 12 true but (R) 1= false

(A) 18 false but (R) is true

Options :

53622812257. 1
53622812258.2
53622812259. 3
53622812260. 4

Question Number : 140 Question Id : 5362283145 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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slgeeH (A) : T iR T % & 4 vty sl Haw Had wea fasm o e afaa i sl
2l
% (R) : F1 wrar] [Hae 4 ase 8 "l stearHEa g e o afa = o s 2)

Il e o srelie 1§ Freifene faeredi O & wdl s =

(1)  (A) 3R (R) SHIHE 2 7 (R), (A) 1 971 =1meT 2|
(2)  (A) 31 (R) EH1 881 2 B (R), (A) il 51 same 421 2
(3) (AT 2, W (R) TAd 2]

(4)  (A)7erd 2, A (R) 921 21

Options :

53622812257. 1
53622812258. 2
53622812259.3
53622812260. 4

Sub-Section Number : 2
Sub-Section Id : 536228123
Question Shuffling Allowed : Yes

Question Id : 5362283146 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Group Comprehension Questions : No
Question Numbers : (141 to 145)
Question Label : Comprehension

Yes
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Read the following paragraph carefully and answer questions which follow. (91-95)

Health financing in India is largely private. Public spending accounts for only 28.6 percent of

the total health expenditures (states and central government combined).

Households incur about 67.7% which translate to about 5.7% of household incomes. Since
medicines, diagnostics and ambulatory care are estimated to constitute 70% of this payment.,
it 1s estimated that if all outpatient treatment could be provided for free. then only 0.5%

people will sink into poverty due to health expenditures.

In patient treatment and hospitalisation are estimated to account for about 32% of out-of-
pocket expenses. Expenditures that account for more than 40% of non- food spending of
household expenses are considered as catastrophic. An estimated 14% of Indian households
face this situation. Due to the extensive market faillures, government intervention seems

inevitable in order to ensure equity and social stability

Sub questions

Question Number : 141 Question Id : 5362283147 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Given below are two statements: One is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : Impoverishment of the households due to out of pocket health care
expenditure 1s high in India

Reaszon (R) : Health financing in India is largely private, where individual pay to seek
health care.

In the Light of the above statements. choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (4)

(2) Both (A) and (R) are true but (R) 13 NOT the correct explanation of (A)
(3) (A)1is true but (R) 1= false

(4) (A)1s false but (R) 1s true
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Question Number : 142 Question Id : 5362283148 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Around what percentage of Indian households incur catastrophic health expenditure?

(1) 10% (2) 12%
(3) 14% (4) 16%
Options :

53622812265. 1
53622812266. 2
53622812267. 3
53622812268. 4

Question Number : 143 Question Id : 5362283149 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
What 1s the share of public expenditure on health in India?

(1)  Less than 1/5™ (2) More than 2/3™
(3)  Lessthan 1/4™ (4) Lessthan 1/3™
Options :

53622812269. 1
53622812270. 2
53622812271.3
53622812272. 4

Question Number : 144 Question Id : 5362283150 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Approximately what percentage of health expenditure 1s incurred by individual household to

avall hospital based impatient care?

(1) Around 20% (2) Around 30%
(3) Around 40% (4) Around 50%
Options :

53622812273. 1
53622812274. 2

53622812275.3
SAEHIRINNTE A
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What share of non-food expenditure on health 1s defined as catastrophic health exp;uf{d_iture?

(1) 4/5™ (2) 3™
(3 256" 4 15™
Options :

53622812277. 1
53622812278. 2
53622812279.3
53622812280. 4

Question Id : 5362283146 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No

Question Numbers : (141 to 145)
Question Label : Comprehension

fetferfia s =1 sraaHId s vied v 393 gafd ueEi (01-05 ) & 3 difs

qWd H ¥4 A 79 (Financing) =477 90 W {56 &3 1 21 ct ¥awed =94 (054 U4 &g 50 aH|
| THeATat ) o1 el 28.6 TTdTd HiE 29 @ 4 211 2| TR #id 67.7% @4 #id 2, 51 9iEn F @9
#1 Fld 5.7% 21 29, e[ vd 9@ 9@y (Ambulatory Core) 38 TdH o 70% @54 % &9 4 #HiHfcld
2, gz Asfer famn a2 o6 afz qfl sned G & 37aw [oses @ a9 a1 e 0.5% o SR 5 %
1] T o e 2|

Uy HTeRe o T 2 T wiisl o 3Em ST S1oTare O ol 9 o e 32% 599 S4ih o 7 8 =@ 2
2| 92 sn o uftan & @ 9E F sag 9 T 40% 9 @i S 2 30 sedee & wy O 9 9 2) 48
ARl 2 Tk 14% 9redig giEn g9 el o g o &1 527 T0H T  GEa 24 1, gegfe 3w
wmTfaer wenfae giafver s & fo avern &1 gedan sravadrd e 2 2

Sub questions

Question Number : 141 Question Id : 5362283147 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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A1l 21 e fea 7 8 veen sigwed (A) a1 g9 @5 (R) 2

Hfaehe (A) : T T ware i woa e % wr gial O snfier i sl 2 2
a4 (R) : WA H ] fam gy =ae w9 3 96 el g 2, siel e uis=gl & w5

I ] T30 2|
T el % rerre H e faeed 8 4w T
(1) (A) 3R (R) 2EI 971 £ 3R R). (A) o A =5 2
(2) (A 3 (R) GH1HE 2 T (R), (A) il wel sare 34 2
(3)  (A)HEHE 7, W (R) 9d FE 2

(4)  (A)Ed AR, v (R) ¥ 2

Options :

53622812261. 1
53622812262. 2
53622812263. 3
53622812264. 4

Question Number : 142 Question Id : 5362283148 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
aprefia afrard =1 e ferean sfersm, s e s 5 27

(1)  10% (2) 12%
(3  14% 4) 16%

Options :

53622812265. 1
53622812266. 2
53622812267.3
53622812268. 4

Question Number : 143 Question Id : 5362283149 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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g § TETEs WO 599 ) A9 fadar 27

(1) 1/5 ¥ %1 (2) 2/38 Hf=
(3) 1/4AFY 4) 1/39%8
Options :

53622812269. 1
53622812270. 2
53622812271. 3
53622812272. 4

Question Number : 144 Question Id : 5362283150 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
FHEGATA H aefi ok Hredy B uftera] o aiEnr g 38 9 ST e 5 g e gfderd 27

(1) T 20% (2) o 30%
(3) oI T 40% (4) =14 50%
Options :

53622812273. 1
53622812274.2
53622812275.3
53622812276. 4

Question Number : 145 Question Id : 5362283151 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
e W EH - H e 20 w5 R {91 sdet e ey o B 4 yiariyd 27

(1) 4/5 (2) 3/5

(3) 2/5 (4) 1/5
Options :
53622812277.
53622812278.
53622812279.
53622812280. 4

Sub-Section Number : 3

W N =
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Group Comprehension Questions : No
Question Numbers : (146 to 150)
Question Label : Comprehension

Answer Q.No. 96 to 100 given below :
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Table : Infant Mortality Rate (per 1000 hive births) India and States according to SRS

Reports.
S.No. India/States

Andhara Pradesh
Assam

Bihar

Gujarat

Harvana

Jammu and Kashmir
Karnataka
Kerala

9. Madhva Pradesh
10. Maharashtra

11. Odisha

12. Rajasthan

15. Uttar Pradesh
14. West Bengal

15. India

e B b

~ o

=

Sub questions

Infant Mortality Rate

2010 2011 2012 2015 2014 2015 2016

46
28
48
44
48
43
38
13
62
28
61
55
61
31
47

43
25
44
41
4
41
35
12
59
25
o7
52
av
32
R

41 39 39
55 54 49
43 42 42
38 26 39
42 41 36
39 37 34
32 31 29
12 12 12
o6 b4 52
25 27 22
53 51 49
49 47 46
53 50 48
32 31 28
42 40 39

37
47
42
33
36
26
28
12
50
21
46
43
46
26
37

34
4=
38
30
33
24
24
10
47
19
44
41
43
25
34

Question Number : 146 Question Id : 5362283153 Question Type : MCQ Option Shuffling : No Is Question

Mandatory : No
Correct Marks : 2 Wrong Marks : 0

In the vear 2010, IMR of how many state was below and above the IMR of India?

(1) Tand 7
(3) 6 and 8
Options :

53622812281. 1
53622812282. 2
53622812283. 3
53622812284. 4

(2)
(4)

Sand 6

Qandb

Question Number : 147 Question Id : 5362283154 Question Type : MCQ Option Shuffling : No Is Question

Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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53622812285. 1
53622812286. 2
53622812287. 3
53622812288. 4

Question Number : 148 Question Id : 5362283155 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
In the year 2010, which state had the lowest and highest IMR?

(1) Kerala and Assam
(2) Kerala and Odisha
(3) Kerala and Uttar Pradesh

(4) Kerala and Madhva Pradesh

Options :

53622812289. 1
53622812290. 2
53622812291.3
53622812292. 4

Question Number : 149 Question Id : 5362283156 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
In the year 2016, which states had lowest and highest IMR respectively?

(1) Kerala and Madhva Pradesh
(2) Kerala and Odisha
(3) Maharashtra and Madhya Pradesh
(4) J & K and Madhya Pradesh
Options :
53622812293. 1
53622812294.2

53622812295. 3
53622812296. 4

Question Number : 150 Question Id : 5362283157 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Which state had maximum dechine in IMR during 2010 to 20162

el w S~ W, -
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Options :

53622812297. 1
53622812298. 2
53622812299.3
53622812300. 4
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Question Id : 5362283152 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes

Group Comprehension Questions : No

Question Numbers : (146 to 150)
Question Label : Comprehension

drferert W strevfrd UoHl 06 W 100 @ &1 3T 2

AT - et f¥rg] geg & (Wid 1000 Sfifad 1y % o9 72) 9d 7 O, wARed e sqan)

Sub questions

#HAH.

(]

L

L

=1 h

A [T

Y =
Y
foram
e
afemn
SR R THN
FATEH
e

ey a9
HEHTE
S ER|
TSR
ELURCE]
iy ST
g7

2010
46
58
48
44
48
43
38
13
62

-
£ O

61
55
61
31
47

2011
43
55
44
41
44

Faraie forg geg
2012 2013 2014
41 39 39
55 5449
43 42 a2
38 36 35
42 41 36
39 37 34
32 31 29
12 12 2
S6 54 52
25 27 22
S3 51 49
49 47 46
53 50 48
32 31 28
2 40 39

2015
37
47
42
33
36

2016
34
44
38
30

24

b
Fa

10
47
19
44
41
43

25
34

Question Number : 146 Question Id : 5362283153 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
g4 2010 4, fohe =21 1 3118 U4 370 YR & 1S U4 30 8 9 o1 307 fohd o1 stfos an?

(1)

73 7

(2)

8 #I 6
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53622812282.2
53622812283. 3
53622812284. 4

Question Number : 147 Question Id : 5362283154 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

a4 2016 H o U541 1 915 09 S 9RA 6 377 09 HR Y F4 o1 S0 R sl #1 sl

(1) 73W6 (2) 73T
(3) 6317 (4) 538
Options :

53622812285. 1
53622812286.2
53622812287. 3
53622812288. 4

Question Number : 148 Question Id : 5362283155 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
a9 2010 4, T T4 %1 3718 U TR 991 =AW T STy o7
(1)  =FTel 370 34A
(2) A 3 st
(3) T 3T I 9=
(4) el 3R HET UL
Options :
53622812289. 1
53622812290. 2

53622812291. 3
53622812292. 4

Question Number : 149 Question Id : 5362283156 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
a 2016 8, o 751 1 318 U TR FH9: A 3 sfrmay a7

(1) 7 3 9eg 729
(2) e 30 sfEn
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53622812293. 1
53622812294. 2
53622812295. 3
53622812296. 4

Question Number : 150 Question Id : 5362283157 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
9 2010 ¥ 2016 & 21014 98 0= & 12 vy 30 o stiaswman fimae w7
1) ==z

(2) -y

(3) I UL
(4) HAUH
Options :

53622812297. 1
53622812298. 2
53622812299. 3
53622812300. 4



